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General Instructions :
Read the following instructions very carefully and follow them :

(i) This question paper contains 38 questions. All questions are compulsory.

(it) Question Paper is divided into 5 Sections — Section A, B, C, D and E.

(iti) In Section—-A question number 1 to 18 are Multiple Choice Questions
(MCQs) and question number 19 & 20 are Assertion-Reason based
questions of 1 mark each.

(iv) In Section-B question number 21 to 25 are Very Short Answer (VSA)
type questions of 2 marks each.

(v) In Section-C question number 26 to 31 are Short Answer (SA) type
questions carrying 3 marks each.

(vi) In Section-D question number 32 to 35 are Long Answer (LA) type
questions carrying § marks each.

(vit) In Section—-E question number 36 to 38 are Case Study based questions
carrying 4 marks each. Internal choice is provided in 2 marks question
in each case-study.

(viii) There is no overall choice. However, an internal choice has been provided
in 2 questions in Section B, 2 questions in Section C, 2 questions in
Section D and 3 questions in Section E.

(ix) Draw neat figures wherever required. Take == 22/7 wherever required if
not stated.

(x) Use of calculators is NOT allowed.
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(Sgfahed™ 99)
T AT 1 & 20 T Sgfoshed i 797 & fH s T9 1 TS 1 2 |

1. & 7 3efa #, % 99 W 9 fig P & ©i=h 7 wasi-t@md PA dum PB WER 80° %
HURFHI T & | LPAB HIATE : 1

A

Oe 80°(>P

(4) 80° (B) 60°
(C) 50° D) 40°

2. ko1/% AU foeh fore fgamd aeffertor 542 — 9kx + 5 = 0 % Yol IRdfoeh SIRTWHE, 8 1

~10 9
A) 5 (B) iﬁ
10 10
(©) 3 (D) g
3. Tgai A(-1, 5)quT B(6, 2) FaHiglia: 1
(A) 247 B) 742
(©) 49 D) 14
4. Ty agug foweh s 3qa1 -2 8, B : 1
A x2-x-86 B) x2+x—6
(C) 2x2—x—-12 (D) x2+x+6
5. Ngsh iRl x = a @AMy = b (a = b) R f&fud W@rd 1
(A) (a, b) Wufa=adi & | (B) (b, a) Rufa=adi & |
(C) wHiaE | (D) HurtE |
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Section - A 20x1=20

(Multiple Choice Questions)
Q. No. 1 to 20 are Multiple Choice Questions of 1 mark each.

—

In the given figure, tangents PA and PB drawn from P to circle are
inclined to each other at an angle of 80°. The measure of ZPAB is 1

A

Oe 80°(>P

(A) 80° (B) 60°
(C) 50° (D) 40°

®o

The value(s) of k for which the quadratic equation 5x2 — 9kx + 5 = 0 has
real and equal roots, is/are : 1

-10 9
A) o B) iB

10 10
© 3 D) +-=

@

The distance between the points A(-1, 5) and B(6, —2) is : 1
(A 247 B) 72
(C) 49 D) 14

.~

A quadratic polynomial whose zeroes are 3 and -2, is : 1
(A) x2-x-6 B) x2+x—-6
(C) 2x%2—x-12 (D) x2+x+6

o

The lines represented by linear equations x =a and y =b (a # b) are 1
(A) intersecting at (a, b). (B) intersecting at (b, a).
(C) parallel. (D) coincident.

430/3/1/CD1BA/22 P.T.0.
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afe & ¢ ampfa &, DE | BC® 13f¢ AD = 2.8 cm, DB = 2.1 cm @41 EC = 4.8 cm

B, A xHANE :

o

(A) 3.6cm (B) 2.4cm
(C) 6.4cm (D) 4.8cm

7. U amenv Bgs ABC, feH LA =90°qeM AB=AC®, Hsin CHIAAR :

A) 0 B) ﬁ

2

1 1

= D) —
(®) 5 D) 7

8.  Ueh UTHI Ush SR 3BT TR | $H W 6 T Y HEAT o A hl TTRIhaT 2

5

A) 0 (B) r
© * ™ 1

6
9. T ama fog P 4 90 W U wRi—@1 PA @it 7% | P & T99i-@1 PA & i ©i=t s

Hehl el T3 <hl =T 2
A) 2 (B) 273 Al
€ 1 (D) 0

10. 9fe T et T 3T % cm3 8, a1 35eh! B g

(A) 2cm (B) 4cm
(©) %cm D) icm
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If in the given figure, DE || BC. If AD = 2.8 cm, DB=2.1 cm and EC =4.8

cm, then the value of x 1s : 1

(A) 3.6cm (B) 2.4cm
(C) 6.4cm (D) 4.8 cm

In a right-angled triangle ABC, ZA = 90° and AB = AC. The value of sin C

1S : 1
J3
A) 0 B) —
2
1 1
© - D) —
J2
A die is thrown once. The probability of getting a number less than 6, is : 1
5
A 0 B —
(A) (B) 5
© = O 1
6
From an external point P, a tangent PA is drawn to a circle. The number
of tangents through P parallel to PA is : 1
(A 2 (B) more than 2
© 1 D) 0
If the volume of a sphere is % cm?, then the radius of the sphere is : 1
(A) 2cm (B) 4cm
1 1
c = D) =
(€) 5 o™ (D) 5 o

430/3/1/CD1BA/22 P.T.0.
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12.

13.

EIEEI
=]

. aﬂéa@%ﬁ,agqaf(x)wm@mﬂﬁ% | S5 f(x) % AT H TSR

AY
f(x)

X'« 2 \ >X

A) 3 B) 1
(€ 0 D) 2

& TS 3TRId |, g O a1t & Thg i I U Y & Fehl s 5 cm @ 3 em € |
OAB g Ia &1 Frsa @ug 2 81 Hgia S 60° 2 741 OCD B I =l 7y @ve

2 | BT &% 1 &% § :

e forgl 31T ST HIET QI WL ShTT: 10 TUT 11 &, T 37 STThel o g @ :

A) 12 B) 8
(C) 20 D) 13
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In the given figure, graph of a polynomial f(x) is shown. The number of

zeroes of polynomial f(x) 1s :

AY
f(x)
X'« 2 \ >X
vY'
A) 3 B) 1
© 0 D) 2

In the given figure, two concentric circles of radii 5 cm and 3 cm have their
centre O. OAB is a sector of outer circle making an angle of 60° at the centre

while OCD 1is the sector of smaller circle. The area of the shaded region is :

@) T om? B) % cm?
©) 2—2%01112 (D) %cmz

If the mean and median of a data are 10 and 11 respectively, then mode of

the data 1s :
A) 12 B) 8
(C) 20 D) 13
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1 3
(A) 5 B) 1
1 3
(C) 1 (D) 3
15. ZlﬁcosAZ%%,?‘ﬁtanAWW%:
1
A — B) 3
(A) 5 (B) V3
© 3 o 2

2

—
o

ST 14 cm 9Tc] U 319 O § ¥ 3TTUehad SATE T Ueh TTT ShIgeht HehTall TRIT | Tt <ht

%mn%:
(A) Tcm (B) 14 cm
©) %cm D) iz cm

17. e AR 2 Tl ndf 98 a_ = 5n — 1 R 1631 TR &, &1 616 AW e :

A 1 B) 6
C) 5 D) 4

18. e forefl a7 o foft ) fix; = 132 + 5p @1 ) f; = 20 2 G & 1 H1ed 8.1 &,
1 1

pEFTIIT:I%:
@A) 3 (B) 6
6 4 D) 5
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14. Two fair coins are tossed together. The probability of getting 2 heads, is: 1
1 3
A = B =2
(A) 5 (B) 1
1 3
C = D) 2
(€) 2 (D) S
15. Ifcos A= %, then tan A is equal to 1
» ® B
J3
3
€ 3 D) —

16. From a solid cube of side 14 cm, a sphere of maximum diameter is carved
out. The radius of sphere is : 1
(A) 7cm (B) 14 cm
@)%ml (D) 14 cm

17. The common difference of an A.P. whose nth term is given by a, = 5n — 1,

1s : 1
A 1 B) 6
© 5 D) 4

n n
18. If for a distribution, Zfixi = 132 + b5p, Zfi = 20 and the mean of the
1 1

distribution is 8.1, then the value of p is : 1
4) 3 B) 6
(C) 4 D) 5

QEEOEEIOEECOEEEIEEEOEEEIEEEUOCEEICEEOEEEECEOOCEOECICCEU
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(AR — ek aTeniia)

fdw : woa e 19 qe 20 H uw 3RRUA (A) % 916 Th ah (R) fean @ | P faeped
T 9 Edl WY

(A) 3fyeH (A) duT a% (R) gHI 8T & | @b (R), 311hed (A) 1 I e ST
g

(B) 31fhed (A) den @6 (R) TH1 9 & | @%b (R), 3Tfireher (A) i gt = 98
WA E |

(C) 31f¥yeher (A) T 7, T b (R) T & ¢ |

(D) AR (A) I B, i deb (R) AR |

19. atftmRem (A) : fig P(a, b) A qmifagd gt a2 + b2 7 |

T (R) : 31 Figait AGx,, y,) T By, y,) % o9 H1 g J(xy - )2 + (9 -1 )
B g |

20. fReR (A) : V2 (5 — V/2) T U S § |
sk (R) : T 3TUNHT T3] 1 UGS Hed Tsh STIRET §&1 Bl @ |

TUE -
(e1fd eTg -3 Uw)
T TE&AT 21 § 25 Toh 3 T -3 TR o T & AT Th T oh 2 3h ¢ |

21. (a) 3 foig QO, 2), T3t P(5, —3) @1 R(x, 7) & &9 g W &, Al x I/ A

ST ShIRTT |
AUl
(b) AfG A(1, 1) 91 B(7, 9) 99 % foreft =ma & &R &, 1t 99 & g & P 7
HIfSTT |

22. | AT shIFT : 4 sin2 60° tan2 45° — 2 sec? 30° tan2 60°

© 430/3/1/CD1BA/22 Page 12
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(Assertion — Reason based questions)

Directions : In question numbers 19 and 20, a statement of Assertion (A)
is followed by a statement of Reason (R). Choose the correct option from

the following :

(A) Both Assertion (A) and Reason (R) are true. Reason (R) is the correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true. Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.
19. Assertion (A) : The distance of P(a, b) from origin is a2 + b2. 1

Reason (R) : The distance between two points A(x;, y;) and B(x,, y,) 1s

\/(xz —x1)2 +(Y2—Y1)2 .

20. Assertion (A) : \/5(5 — \/5) 1s an irrational number. 1

Reason (R) : Product of two irrational numbers is always irrational.

Section - B
(Very Short Answer Type Questions)
Q. No. 21 to 25 are Very Short Answer type questions of 2 marks each.

21. (a) IfQ(O, 2)is equidistant from P(5, —3) and R(x, 7), find the value(s) of x. 2

OR
(b) If A(1, 1) and B(7, 9) are the end points of a diameter of a circle, then
find the co-ordinates of the centre of the circle. 2
22. Evaluate : 4 sin? 60° tanZ 45° — 2 sec2 30° tan? 60° 2

QREOEEIOEEOEEEIEEEOEEEEEEOCEEICEEOEEEECOOCEOECICCEU
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26.

217.

28.

IR0
[aTe

. (a) Tg SRR _7 _ 243 w st ge 3, e R & 76 43 T s

@y |
Freran
(b) SEFETHINTTUTH (7 x 11 x 13 + 2 x 11) Teh AT G141 41 2 |

. 98 YA A Hi feH Y-318, fogati A5, — 6) @1 B(-1, — 4) % e

TETEUE %! (I Ll 8 | farwrsi feig ot s i |

. 19 80 T 3! HEAI3TI | 3ifehd 80 TSI § § Teh IS ATGTSAT (HehTell TAT | STRISHAT 1

T Top fHehTet 71T hTE W 3foRd T 8 ¥ fawifoa =21 2 |

WU — T
(FTg—-3a U)
Y EEIT 26 H 31 Teh o ~ITT TR % YT & AT Teeh T & 3 I ¢ |

IS e fafyr |, € Tenst 336 9U1 54 %1 @.9. (LCM) 21 7.9. (HCF)
T T |

Teh FHIVT FST 1 SIS ST MR A 7 cm 9 § | AT ST 0 17 cm AT 7,
(a) ST 3Tehg! ! Ueh Tgama g 8 fefug v |
(b) TN 1 YTl hT AT T BT |

(a) T o Tsh WIS I W AR Teh WIS Sl o TR bl @ | ST
% SE 14 cm 8 AU T4 1 A Ha8 13 cm & | T8 a4 I NS I8
FAH 1A HINT |

YT

(b) T 3 AT, Th L T AT Teh AT W o 3R I & | AP
1 HEE 2 cm B U 39 ITTUR 1 I 4 cm 2 | Raefia s 1/a 7 hifse |

© 430/3/1/CD1BA/22 Page 14
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(a) Prove that -7 — 243 is an irrational number, given that V3 is an
irrational number.

OR
(b) Explain why (7 x 11 x 13 + 2 x 11) is not a prime number.

Find the ratio in which the Y-axis divides the line segment joining the
points A(5, —6) and B(-1, —4). Also, find the point of intersection.

There are 80 cards numbered from 1 to 80. One card is drawn at random
from them. Find the probability that the number on the selected card is
not divisible by 8.

Section - C
(Short Answer Type Questions)
Q. No. 26 to 31 are Short Answer type questions of 3 marks each.

Find LCM and HCF of two numbers 336 and 54, using prime-factorisation
method.

The altitude of a right-angled triangle is 7 cm less than its base. If its
hypotenuse is 17 cm long, then

(a) represent the above information in the form of a quadratic equation;

(b) find the length of the sides of the triangle.

(a) A vessel is in the form of a hollow hemisphere surmounted by a hollow
cylinder. The diameter of the hemisphere is 14 cm and the total height
of the vessel is 13 cm. Find the inner surface area of the vessel.

OR

(b) A solid toy is in the form of a hemisphere surmounted by a right
circular cone. The height of the cone is 2 cm and the diameter of the
base is 4 cm. Determine the volume of the toy.

430/3/1/CD1BA/22 Page 15 P.T.O.
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Oftact]
29. fgamd wgug 522 + 3x — 2 % YA I WY | YRR TUT 0N 6 S o6 TG h

AT SHifTT |

~ . BC BD
30. IR H, Z/ABC = ZACBE,qd —==—"—
A § BE AC%'

D

B
a9ise 6 AABE ~ ADBC @1 AE || DC.

31. (a) Trg R : (sin 6 + cosec 0)2 + (cos 6 + sec 0)2 = 7 + tan? 6 + cot? 0.

HAYAT
(b) FfZcos A = % 2 ) wenfia Hif f

cos A N sin A
1-tanA 1-cotA

=cos A + sin A.

©ug — ¥
(-3l g9)
T HEAT 32 ¥ 35 qoh ol -ITq aTet T 2 F 1 U % 5 316 & |
32. 50 HHSE & T geT I, 1= fou v se F gofu U §

ufd =21 aaq (T W) 100-120 | 120-140 | 140-160 | 160-180 | 180-200

HHRET <hl T& 12 14 8 6 10

ST SATehST ohl WL AT HIEHh 1A ShiITlT |

© 430/3/1/CD1BA/22 Page 16
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29. Find the zeroes of the quadratic polynomial 5x2 + 3x — 2 and verify the

relationship between the zeroes and the co-efficients. 3
30. In the given figure, ZABC = ZACB and BC :@. 3
BE AC
D
A
C
E
B

Show that AABE ~ ADBC and AE || DC.

31. (a) Prove that (sin 0 + cosec 0)2 + (cos 0 + sec 0)2 =7 + tan? 0 + cot2 0. 3
OR
(b) Ifcos A= 5 , then verify that cos A S A =cos A + sin A. 3
13 l1-tanA 1-cotA

Section - D
(Long Answer Type Questions)
Q. No. 32 to 35 are Long Answer type questions of 5 marks each.

32. Consider the following distribution of hourly wages of 50 workers of a

factory : 5

Hourly wages (in ¥) | 100-120 | 120-140 | 140-160 | 160-180 | 180-200

Number of workers 12 14 8 6 10

Find the mean and the median of the above data.

430/3/1/CD1BA/22 Page 17 P.T.O.
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(a) < TE AT H, 5 cm B aTet U 99 1 U SiaT AB I A9 6 cm B | A G0
B R @it 75 Tl 3@y foig P W firerd & | PB 1 @6 [1d ity |

B

@
&

YT

(b) Tag HT f g0 & ule T T8 FuaEgdS 6 dHagys 8l 8 | 39
THEYS 1 &Fha ot 1 hifre, SEfe ga 6 B 3 em g 1 FwEgyS S
T ol 10 cm @12 |

34. TH 100 m =S TSH M1 FhIRI T QI THM HeT3 o @FY Teh GHL o faoiid @S 7 |
TS o S o (R foig § 3 WEHT o FRIGT o I~ IV AN 60° AT 30° 7 | @i
=1 4T3 q 39 foig | @l 3 gRAT 1 IR |

35. (a) T fafra, form wefientor 3w w1 a1 9Ta Shifse
x+ 2y =87ddq 3x — 2y = 12
e

(b) T 2-37ehi h! TEAT o 3TehI 1 AN 9 7 | $H TEAT 1 A1-TH1, 36 TEAT I 3ehi I
T qeTe T S T % €1 TH o THH 7 | F&A1 [0 ST |

430/3/1/CD1BA/22 Page 18
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33. (a) Inthe given figure, AB is chord of length 6 cm of a circle of radius 5 cm.

The tangents at A and B intersect at a point P. Find the length of PB. 5
B
P
A
OR

(b) Prove that the parallelogram circumscribing a circle is a rhombus.
Also, find area of the rhombus, if radius of circle is 3 cm and length

of one side of the rhombus is 10 cm. 5

Two poles of equal height are standing opposite each other on either side
of a road, which is 100 m wide. From a point somewhere between them on
the road, the angles of elevation of the top of the poles are 60° and 30°
respectively. Find the height of the poles and the distances of the point
from the poles. 5

w
e

(a) Using graphical method, solve the following pair of equations : 5
x+ 2y =8and 3x — 2y = 12
OR

(b) The sum of the digits of a 2-digit number is 9. Also, nine times this
number is twice the number obtained by reversing the order of the

digits. Find the number. 5

430/3/1/CD1BA/22 Page 19 P.T.O.
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(STERTUT 1SS STETE U94)

9 T 36 ¥ 38 T TehTU1 STEAIT T U9 & | Tc2¥eh Y9 4 37 3 |
36. Ueh faarfi-ufian =h dul hid THA, ke b YA Teh HIFEE i Afe ™l & U4 |
TG 99 37 | 98 Yed A fen 2

o—0

o—0

.
T
IIIuII,(;,I

FTHM (1) FH (2) JTF (3)

I o YR W, F7 T3 & 3T <ifvre

(i)  3TTeRTc H Tl <hl T GRI S THTAX A I TUH ¢ 7T A7d 3k fARay |

(i) wrfaE 6 fifer=i f @ gr S99 aTelt gHra S B YUYW Ug a°T |96 3T

fofim |

(iii) (a) TEH YRR hT A (10) § fha= a1 & ? 3Wpla (10) § T AT

et <t g o forfaw |
Jreran

(iii) (b) @ md mRfa (3BT (m)) F 88 AfewT 1 T 31 2, A m T IH 1

$ifT | 58 anepfe § fepa arf e & 2

37. TAUH.UH. (U TaT ASHT) 1 3£ BET I TG § SheAT 3R I TUe qH1eH
TSR § SIS T 8 | TH.TH.TH. 1 e 3T | ferd shivmeh g3 #ict < W =5 W
i 7, ufean e o i =1k 1 Udish ® | Wdlieh o1 3TRRaes fa fi= feanman 2
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Section - E
(Case Study based Questions)

Q. No. 36 to 38 are Case Study based questions of 4 marks each.

36. While preparing for a competitive examination, Akbar came across a
match-stick pattern based question. The pattern is given below :
o—0

I—I oO—0
l—l O—0
O——O0 = eeeeee
Fig. (1) Fig. (2) Fig. (3)
Based on the above information, answer the following questions :
(1) Write first term and common difference of the A.P. formed by
number of squares in each figure. 1
(1) Write first term and common difference of the A.P. formed by
number of sticks used in each figure. 1
(111) (a) How many squares are there in Fig. (10) ? Also, write the
number of sticks used in Fig. (10). 2
OR
(1) (b) If 88 sticks are used to make mth figure (Fig. (m)), find the value
of m. How many squares are formed in this figure ? 2

© 37. NSS (National Service Scheme) aims to connect the students to the
community and to involve them in problem solving process.

NSS symbol is based on the ‘Rath’ wheel of the Konark Sun Temple
situated in Odisha. The wheel signifies the progress cycle of life.

The diagramatic representation of the symbol is given below :

QEEOEEIOEECOEEEIEEEOOEEEEEEOCEEICEOEOEEEEECEOOOEOECICCEU
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IR0
&,

ST & T ST BT SAH FINT | 3: It F g T wT F @ e | fan g e
OP=21cmaa0S=10cm &, dl

S E T THBHRT o MR W F=faTRad I o I o
i) msROS FaHIfT |
(i) B @ve OPQ w1 9™ 31 Hifey |

(iii) (a) iR &5 PQRS %1 Shel STd HifT |

YT

(iii) (b) ®mHd & ACB (59 @vs ACB) 1 &hel F1d HITT |

38. d TS T H, Teh wq fohaT ST Tehe! AT Wl I T € -

D B
\ x+3 x
O
3x+4 3x+ 19
A C

TS % T @1 @ve AB et CD g f&fua & St O W firerd 8 | AC @ BD &t firemd |
I A U foh Bl BT ST 9T 98 o THIR & 91 OB=x, OD =x+ 3, OC = 3x + 19
T OA = 3x + 4 8, @t e & s s

(i) fag il s AOAC ~ AOBD.

(i) ferg shifse foh

0A OB
AC BD’

(iii) (a) TR o STaCH H, x T TH G HIRT | 37d: OC I T 74 I |

HAYA

(i) (b) STt o st @, i_gamaﬁm|

430/3/1/CD1BA/22
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Observe the figure given above. The diameters of inner circle are equally
placed. Given that OP = 21 ¢m, OS = 10 cm.

Based on the above information, answer the following questions :
(1) Find mZROS.
(1) Find the perimeter of sector OPQ.
(111) (a) Find the area of shaded region PQRS.
OR
(111) (b) Find the area of shaded region ACB i.e. the segment ACB.

38. In the figure given below, a folding table is shown :

D B
x+ 3 X
O
3x+ 4 3x+ 19
A C

The legs of the table are represented by line segments AB and CD
intersecting at O. Join AC and BD.

Considering table top is parallel to the ground, and OB = x, OD = x + 3,
OC = 3x + 19 and OA = 3x + 4, answer the following questions :

(1) Prove that A OAC is similar to AOBD.

(11) Prove that OA = OB .
AC BD

(111) (a) Observe the figure and find the value of x. Hence, find the length
of OC.

OR

(111) (b) Observe the figure and find i—g

430/3/1/CD1BA/22 Page 23
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m_waﬁg ................................................
.. ..................... ﬁp,,-,r .................... . ..... Q Pcode 4 30 / 4 / 1
Holl No qﬁ?ﬂT?ﬁ YA HIS Hl IR
: 1E-g8 T 37y g | ;
Candidates must write the Q.P. Code on

the title page of the answer-book.

qe / NOTE :

(1)

(i1)

(iii)

(iv)

(v)

FHUAT A= A o b 39 T-99 | Gigd 95 23 7 |
Please check that this question paper contains 23 printed pages.

FORT AT R A F T IHATTE 38T 7 |
Please check that this question paper contains 38 questions.

-9 § Qi 819 1 IR T U 9w-9F i i wlernell IT-gieaent % @98 W
ford |

Q.P. Code given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.

FHUAT U T I TTEAT I[E A A Ugel, SW-Yeaehl H U 1 HATH Aa9T
fore |

Please write down the serial number of the question in the
answer-book before attempting it.

3 YIA-UA ol UeH h [T 15 T o1 99 TG T 8 | UH-9H 61 [Ial gaig H
10.15 59 foram ST@m | 10.15 99 § 10.30 S doh B hdd YT il Tl T 39
Ay &% R o ITR-YREdehl W HI I T8 fora |

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on the
answer-book during this period.

Tfore (gFardh) S
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)
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[ClES

T (4397 :

HET1TIEGT 39T 1 S8 TIaeH] & 91T 3R 377 G&d] & i Hilag
(i) 39 397-97 7 38 F97 & | @1 v SHfHard & |

(i) TEYH-97 Qi @USl 7 [{Ayifqq 8- &, &, W, 90a & /

(iii) @S & H Y97 §&I1 18 18 % aglasedid (MCQ) 97 ¥97 &&I7 19 Tq 20
STHYT T T STIIRT 1 3% & T97 8 |

(iv) @U@ T ¥o7 g&I121 @ 25 T%F 3717 TY-IHIT (VSA) FHR & 2 3761 & J97 8 |
(v) T@UETH J97 G&IT 26 G 31 T TG-FH1T (SA) FHR 3 3 3H] & J97 8 |
(vi) TS T H J97 &I 32 T 35 d% -3 (LA) IR 3 5 3! & Jo7 & |

(vii) @UE T F Y97 G&IT 36 & 38 d% JHU 37T ST 4 3% & 97 & | I9%
JHT S7EFTT H STARF f[deheq 2 37k & Y97 F 1397 =7 & |

(viii) ¥99-97 § GHF [Aeheq 757 1297 71 8 | FEIfG, @ve @ & 2 vl §, @ve T & 2 Il
4, @vs g %2 Yo 4 a9 GV & & 3 ¥l 7 FaRk® lahcy F Jaeg 1791 T
g1/

(ix) & STTvIH &1 T Il G975T | T8l avqH & m = % e, Iiz =T
T 1397 737 &1 |

(x)  Dopeiel & ITINT afdd & |

WUE &
57 G F Fglanedid F7 (MCQ) 8, 1978 Jc3ieh Jo7 1 37 F1 & | 20x1=20
1. fagati @, -DM (-1, -sFaARN?:

(A) 15 3FE (B) 5%

C) 25THE (D) 4138

2. fog3i A4, x) 3 B(-2, 4) % AW el @1 @S AB 1 Heafeg Afg
C(1,-1)%, A xHT HAH 2 :

(A 5 B) -5
(C) 6 (D) -6

o 0

3. fafafgg a8 s gesg 91 2 2
(A) PE)=1+P(E) (B) P(E)-PE)=
(C) PE)+P(E)=1 (D) P(E)=2P(E)
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)
(ii)
(ii1)
(iv)
(v)
(vi)

(vit)

(viii)

(ix)

(x)

This question paper contains 38 questions. All questions are compulsory.
This question paper is divided into five Sections — A, B, C, D and E.
In Section A, Questions no. 1 to 18 are Multiple Choice Questions (MCQs) and

questions number 19 and 20 are Assertion-Reason based questions of 1 mark
each.

In Section B, Questions no. 21 to 25 are Very Short Answer (VSA) type
questions, carrying 2 marks each.

In Section C, Questions no. 26 to 31 are Short Answer (SA) type questions,
carrying 3 marks each.

In Section D, Questions no. 32 to 35 are Long Answer (LA) type questions
carrying 5 marks each.

In Section E, Questions no. 36 to 38 are case study based questions carrying
4 marks each. Internal choice is provided in 2 marks questions in each
case study.

There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 2 questions in Section C, 2 questions in Section D and
3 questions in Section E.

: : 22 : :
Draw neat diagrams wherever required. Take 1 = 3 wherever required, if not
stated.

Use of calculator is not allowed.

SECTION A

This section comprises Multiple Choice Questions (MCQs) of 1 mark each.  20x1=20

1.

The distance between the points (2, — 1) and (- 1, - 5) is :
(A) 15 units (B) 5 units
(C) 25 units (D) 41 units

If C(1, —1) is the mid-point of the line segment AB joining points A(4, x)
and B(- 2, 4), then value of x is :

(A 5 B) -5

C) 6 (D) -6

Which of the following relationship is correct ?

(A) PE)=1+P(E) (B) P(E)-PE)=1
(C) PE)+P(E)=1 (D) P(E)=2P(E)

14-430/4/1 P.T.O.
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4. frafafaa so7 T Sl F 50 S £ 2 o g @
I (T H) 400 — 424 | 425 — 449 | 450 — 474 | 475 — 499 | 500 — 524
gftenl &1 e 12 14 8 6 10
g o shl et Hm R
(A) 425 (B) 449
(C) 4245 (D) 4255
5. 9 m > ool o @Y hH FHH W 33 m T BRT 7 | 39 T W I H
WTS[% :
(A)  60° B) 90°
(C) 45° (D) 30°

6. A Teamd og9e kx2+4x+k HI TH I 18, A kHI AN B :

(A)
©)

2
4

(B)
(D)

-2
-4

7.  Tgoma sgugl, 5k % —1 3R 3 2, i w1 2

(A)
(C)

1
3

(B)
(D)

8.  femma wfiehtor x2 — 4 = 01 /% ot /% -

2

39 i

~22
_4,4

(A) had 2 (B)
(C) <had 4 (D)
9. fafafga 7 9 wH-a feama wfiemor 787 8 2
(A (x-22+1=2x-3
B 2x-1))x-3)=xx+5x-1)
C) xx+1)+8=x+2)(x-2)
D) 2x+3=5
X
14-430/4/1
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The following distribution gives the daily income of 50 workers of a
factory :

Income (in ¥) 400 — 424 | 425 — 449 | 450 — 474 | 475 —499| 500 — 524

Number of workers 12 14 8 6 10

The lower limit of the modal class is :
(A) 425 (B) 449
(C) 4245 (D) 4255

A lamp post 9 m high casts a shadow 33 m long on the ground. The
Sun’s elevation at this moment is :

(A) 60° (B) 90°
(C) 45° (D) 30°

If one zero of a quadratic polynomial kx? + 4x + k is 1, then the value of
kis:

A 2 B) -2
C) 4 (D) -4

The number of quadratic polynomials having zeroes —1 and 3 is:

A 1 B) 2

C) 3 (D) more than 3
The roots of the quadratic equation x2 — 4 = 0 is/are :
(A) 2 only B) -2,2

(C) 4only (D) —-4,4

Which of the following is not a quadratic equation ?
A x-22+1=2x-3

B @2x-1D)Ex-3)=x+5)(x-1)

C) x(x+1D)+8=x+2)(x-2)

D) 2x+2 =5

X

14-430/4/1 P.T.O.



10.

11.

12.

13.

14.

[= {5

(O EY
THIAL 2! 1 G163, AG ag3—a;9=32 B, @ :
A) 8 B) -8

) -4 D) 4

skt

tanZ 0 - sin? 0

A 1 B) -1

(C) sec?9 (D) sinZ0

I oh! Tk el AR @ A9 # ¥ TRt Tk o6 o= &1 T &9 Shealdl g
(A) Th=EM (B) T fuws

(C) Tk @S (D) TH e

I 1080 =2Xx 3Y x 58, dl (x —y) ST 7 :
(A) 6 B) -1
© 1 D) 0

3l 8 ATHId H, g O It Teh g W s foieg P H Teh TRi@l PA S 2 |
Ife ~ AOP=70°%, @ £ APOSI 4 & :

A
'\
B
(A 70° (B) 90°
(©C) 110° (D) 20°

14-430/4/1
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10. The common difference of an A.P.,if agq— a9 =32, is:
A) 8 B) -8
Cc -4 D) 4
11 1 - is equal to :
. tan?0  sin? 0 .
A 1 B) -1
(C) sec?0 (D) sinZ6
12. The region between a chord and either of the two arcs of a circle is called :
(A) anarc (B) asector
(C) asegment (D) a semicircle
13. If1080 = 2% x 3Y x 5, then (x —y) is equal to :
A) 6 B) -1
<© 1 (D) O
14. In the given figure, PA is a tangent from an external point P to a circle
with centre O. If £ AOP = 70°, then the measure of ~ APO is :
A
()
p
B
(A) 70° (B) 90°
(C) 110° (D) 20°
14-430/4/1 P.T.O.
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15. A+l
It 0-10|10-20|20-30|30—40|40-50 |50 —60
TRERAT | 5 8 20 15 7
(A) 10-20 (B) 20-30
(C) 30-40 (D) 40 -50
16. 21 cm T390 % T 9 H, I Th =9 I oh g I 60° T HIU AT Hdl
g, o1 39 =9 hl A B
(A) 1lcm (B) 44 cm
(C) 2—7zcm (D) 22cm
17. Tl g0 1 Teid@n 98 W@ it g S g9 ohl €99 H @
(A)  H9d T § fag W (B) @ fomgati W
(C) @ fergatl W (D) 31d fogati W
18. < 73 3ehId H, IICAABC~A QPR &, A x 1 AF 3 :
6 cm
5
[8)
&
vio B B
B Q P
(A)  53cm (B) 46 cm
(C) 23cm (D) 4cm
14-430/4/1
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15. The median group in the following frequency distribution is :
Class 0-10 | 10-20 | 20—-30 | 30-40 | 40-50 | 50 —60
Frequency 5 8 20 15 7 5

(A) 10-20 (B) 20-30

(C) 30-40 (D) 40-50
16. In a circle of radius 21 cm, if an arc subtends an angle of 60° at the centre

of the circle, then the length of the arc is:

(A) 1l1cm (B) 44 cm

© 2 om D) 22cm
17. A tangent to a circle is a line that touches the circle at :

(A) one point only (B) two points

(C) three points (D) infinite number of points
18. In the given figure, if A ABC ~ A QPR, then the value of x is :

6 cm
A C R
IS
(S}
© S
W oy X
B Q F

(A) 53cm (B) 46 cm

(C) 2:3cm (D) 4cm
14-430/4/1 P.T.O.
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97 G&IT 19 3K 20 379%H97 Tq o SERa 97 8 | 3 97 130 70 & 577 v %]
SIYHIT (A) T TR B 7% (R) GRT 37/ 1971 797 & | 37 J971 & &1 I 14 157
77 %131 (A), (B), (C) 3% (D) & & 7% FI1T |
(A) AT (A) 3R Toh (R) GHT Tal & AR b (R), AR (A) i Fal
ST LT 2 |
(B)  3fishe (A) 31X Gk (R) 3HI Hal &, T b (R), AHHAH (A) hl €&l
NS TgT 1 2 |
(C) AMHeH (A) T& 8, Wrg e (R) TeId 8 |
(D) 37 (A) A B, T ok (R) T 7 |

19. 37WPHg7(A): INgs THHW 9 5x + 2y + 6= 03I Tx + 6y + 18 =0

SIRfd &9 9 3% g B |
% (R) : ﬁ@%?ﬁﬁmgmaﬁ+bﬂ+cl=mﬁi%x+%y+%=0
¥ oroffid w9 @ otid s B, Al AL_PL_a 3

ag by c9

20. 3UHYT(A): T UTHT Hhehd W, HEAT 8 U B <! TIRrehdT I (0) % |

7% (R) : T STEE T I WRehdT I (0) BIAt B |
Qus d
57 GUE T 37Id TG-IRI% (VSA) FHR & J97 &, o780 I3l & 2 37 & | 5x2=10

21. HCF (306, 1314) = 18 feam a1 8, dt LCM (306, 1314) JTd shiloT |

22. Torelt I % =™ AB % I W &1 TRi@ XY 3R PQ @i+ T & | &g
sife 6 XY || PQ ® |

23. (a) @ TS MHN A, PQ || RS R | fig FRTE fF OP x OR = 0Q x OS.
R

HAAAT

14-430/4/1 Page 10
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Questions number 19 and 20 are Assertion and Reason based questions. Two
statements are given, one labelled as Assertion (A) and the other is labelled as
Reason (R). Select the correct answer to these questions from the codes (A), (B),
(C) and (D) as given below.
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

19. Assertion (A) : The pair of linear equations 5x + 2y + 6 =0 and
7x + 6y + 18 = 0 have infinitely many solutions.

Reason (R):  The pair of linear equations a;x+b;y+c;=0 and
a9X + byy + ¢9 = 0 have infinitely many solutions, if
ag_by _¢
as by cp

20. Assertion (A) : The probability of getting number 8 on rolling a die is
zero (0).

Reason (R): The probability of an impossible event is zero (0).

SECTION B

This section comprises Very Short Answer (VSA) type questions of 2 marks
each. 5x2=10

21.  Given that HCF (306, 1314) = 18, find LCM of (306, 1314).

22. XY and PQ are two tangents drawn at the end points of the diameter AB
of a circle. Prove that XY || PQ.

23. (a) In the given figure, PQ || RS. Prove that OP x OR = 0Q x OS.
R

P
@)

OR

14-430/4/1 Page 11 P.T.O.
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[Op ]

(b) 2 T R H, LM || CB 3R LN || CD? |%@aﬁm%%:ﬁ.

AD
B
/M<\
L
A C
N
D

24. (a) aﬁagcra8x2+14x+3éswa,5§,a‘r(1+%meam
+HIfST |

AT

(b) U fgaTd 9gUe 1A hIoTC oTHeh Ik — 9 3R 6 7 |

25. ¥ AT hiNW ;

sin 30° cos 60° + cos 30° sin 60° — cot 45°

wue 1

59 GUE § TY-FHIT (SA) FHR & 97 &, 578 Jcd% & 3 3% & | 6x3=18

26. 10 cm TSI 911 TH IA H HIS G I o kg T Uk HRU AR
A 7 | @ () 7Y BeuEs (i) 6 Bougs % gmwa | hiNe |
(n = 3-14 %1 AT i)

27. (a) Tag FIT 6 ga & 9fo@ o= IgS o AT T o I 6

g U HYLh 10T AN L & |

AT

14-430/4/1 Page 12
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(b)  In the given figure, LM || CB and LN || CD. Prove that AM _AB
AN AD
B
M
L
A C
N
D

24. (a) Ifa, B are zeroes of the polynomial 8x2 + 14x + 3, then find the

value of [l + 1] )
a B
OR

(b)  Find a quadratic polynomial whose zeroes are —9 and 6.

25. Evaluate:
sin 30° cos 60° + cos 30° sin 60° — cot 45°

SECTION C

This section comprises Short Answer (SA) type questions of 3 marks each. 6x3=18

26. A chord of a circle of radius 10 cm subtends a right angle at the centre of
the circle. Find the area of the corresponding (i) minor sector (ii) major

sector. (Use n = 3-14)

27. (a) Prove that opposite sides of a quadrilateral circumscribing a circle
subtends supplementary angles at the centre of the circle.

OR

14-430/4/1 Page 13 P.T.O.



28.

29.

30.

31.

[=15=1
[ClES

(b) AR TH g9 H Hg O, SaT PQ 3R P W it 7 Tasi@r PR, S
PQ T 40° T I sHTCT &1, a1 £ POQ T WY T hifag |

(a) TCoTd T 1 AN Hteh, FHIHWT 2x2 + 2x + 9 = 0 h AT Hd, IG
3ehT 3fdca B, 1 T |

AT

(b) K% o HH Ad HiC e fey fgema eHientor kx? — 2kx + 6 = 0
s 3R THE 4 & | I8 g o [1a I |

qre ok 52 TRl <hl TS| TE H Bl T3 Th TSl § Teh Ul Aol e
ST 8 | STRrehdT STd Shifore fob feprar T v

(i) T QT 1 STEIE 2 |
(ii) T T 1 9T T8l @ |
(iii) 9T <hT ST @ |

fag fiNw f6 2+53 T iy T @, Ifc fem M 8 &6 V3
IUNHT & 2 |

forg shifor &6 -

.2
(tan A + sec A)® + (tan A — sec A)® = 2 [w]

1-sin? A

14-430/4/1 Page 14
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29.

30.

31.
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(b)  If O is the centre of a circle, PQ is a chord and the tangent PR at P
makes an angle of 40° with PQ, then find the measure of / POQ.

(a) Using quadratic formula, find the real roots of the equation
2x2 + 2x + 9 = 0, if they exist.

OR

(b) Find the values of ‘K> for which the quadratic equation
kx? — 2kx + 6 = 0 has real and equal roots. Also, find the roots.

One card is drawn at random from a well-shuffled deck of 52 playing
cards. Find the probability that the card drawn is :

i) a red king.
(11) not a black card.

(111) an ace of hearts.

Prove that 2 + 5+/3 is an irrational number, if it is given that J3 is an
irrational number.

Prove that :

2
(tan A + sec A)® + (tan A — sec A)® = 2 w
1-sin“ A
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Ry
Qs v

39 GUS H -370%9 (LA) YR & J97 &, 578 Y3 & 5 37% & / 4x5=20

32. (a) & =, [0 & T &1 A=A 125 cm3 B, b G Bt i e
@ 1A 8 | ITed ST T TR 3T s3I &l 31 <hIfT |

arera
(b) T 3 Teh LMl W LAWY Teh I oh R 1 & GH GHI b
M 7 cm % TSR 8 3R WP I Sa718 3Tl B & TR 7 | 39 H1
AT Td shifST |

33. TUH SoheR Tl ol Weld o oI Th Ueh § G e 9l Tl =gl & |
6 99 ¥ T I h Sl b O, I8 Th UH! ThHHTH Te2! AT ATgal & TSrehl
RIET 2:0 m 1 . T 3 H s WA 30° % B | FhH! g3 8, T9ih
Y A 3IY & a1 & [T, 98 4-0 m Sl SR T A4h ST hl {haeH
U T =Rl 8 S QW o WY 60° o I W Fehl 53 8 | Tedsh Eafd
fhaeH vedt it wes F Bt ?

34. (a) 3 BD 3t QM suw: B ABC 3R PQR i wifesrprd &, <&t

AB BD
AABC~APQR%,@%@W%%:Q—M.
AT
(b) CD 3R GH %": £ ACB 3R ~/ EGF % UH @uigHS & f fog D

3T H %A A ABC 3R A FEG 1 o131l AB @1 FE W oo g | =g
A ABC ~ A FEG g, dI g31ise 6 :

oD _ac
GH FG
(i1) A DCB ~ A HGE
85. .ot Tl 1 Uk fmiar =Y 99 # 720 .. T2 qr 13d 99 H 880 Al
T 1 IATET T 7 | I8 A gC foh Tdeh a8 3G H THadH &9 § Th

fafeaa g o afg gt 8, @ god a¥ 1 IcuTe IR Ug A1 INi 1 Hd
EICEINICICIIE 1

14-430/4/1 Page 16
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This section comprises Long Answer (LA) type questions of 5 marks each.

32.

33.

34.

35.

14-430/4/1 Page 17 P.T.O.
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SECTION D

(a) Two cubes each of volume 125 cm3 are joined end to end. Find the

volume and the surface area of the resulting cuboid.

OR

(b) A solid is in the shape of a cone surmounted on a hemisphere with
both their diameters being equal to 7 cm and the height of the cone

is equal to its radius. Find the volume of the solid.

A contractor plans to install two slides for the children to play in a park.
For the children below the age of 6 years, he prefers to have a slide whose
top is at a height of 2:0 m and is inclined at an angle of 30° to the ground,
whereas for older children, he wants to have a steep slide at a height of
4-0 m and inclined at an angle of 60° to the ground. What would be the
length of the slide in each case ?

(a) If BD and QM are medians of triangles ABC and PQR,

respectively, where A ABC ~ A PQR, prove that AB :@

PQ QM

OR

(b) CD and GH are respectively the bisectors of £ ACB and £ EGF
such that D and H lie on sides AB and FE of A ABC and A FEG
respectively. If A ABC ~ A FEG, show that :

CD AC

O GH TG

(i1) A DCB ~ A HGE

A manufacturer of TV sets produced 720 TV sets in the fourth year and
880 TV sets in the eighth year. Assuming that the production increases
uniformly by a fixed number every year, find the production in the tenth
year and the total production in the first seven years.

4x5=20
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g INEART qed (NAV) forelt %8 o Ufd IRR 919 Jed o1 i shiar

2 | 98 98 hmd g e w fawres freht &g ot @ %g I @led 8 3K 3=
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frafaRaa arfetept ICICI 3T Bl o HFAA B8 i T (e g TReqd
4 (NAV) 1 il 2

NAV (T # ) 0-5|5-10|10-15|15-20 | 20 — 25

g3 wel hi e | 13 | 16 22 18 11

3TIE TR o YR W, Fmferfaa yet & 3w &S

(i)  Alehsi o geieh a1 hl H AT A1 8 ? 1
(ii) ~ SAThgl T AT o1 AT B ? 1
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SECTION E

This section comprises 3 case study based questions of 4 marks each.

Case Study -1

Ix4=12

36. Mutual Fund : A mutual fund is a type of investment vehicle that pools
money from multiple investors to invest in securities like stocks, bonds or
other securities. Mutual funds are operated by professional money
managers, who allocate the fund’s assets and attempt to produce capital
gains or income for the fund’s investors.

MUTUAL

FUNDS!

===222R=CL

Net Asset Value (NAV) represents a fund’s per share market value. It is
the price at which the investors buy fund shares from a fund company

and sell them to a fund company.

The following table shows the Net Asset Value (NAV) per unit of mutual

fund of ICICI mutual funds :

NAV (in ¥) 0-5|5-10| 10-15| 15-20 | 20-25
Number of mutual funds 13 16 22 18 11
Based on the above information, answer the following questions :
1) What is the upper limit of modal class of the data ? 1
(i1)  What is the median class of the data ? 1
14-430/4/1 P.T.0.
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(i) (a) TIIAA HEl H TgAH NAV HI 3 ?
AT

(b) T Bl ST HeTh NAV &1 7 ?

TehTUT AT — 2
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(111) (a) What is the mode NAV of mutual funds ? 2
OR
(b) What is the median NAV of mutual funds ? 2

Case Study - 2

37. Resident Welfare Association (RWA) of Gulmohar Society in Delhi, have
installed three electric poles A, B and C in the society’s common park.
Despite these three poles, some parts of the park are still in the dark. So,
RWA decides to have one more electric pole D in the park. The park can
be modelled as a coordinate system given below.

14-430/4/1 Page 21 P.T.O.
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ST ——
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(i) gAY AR 6 Aegesd R 3 U @liear 8, a1 36 Hol Fha1 TR T ST
gt 2
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On the basis of the above information, answer the following questions :
) What is the position of the pole C ?
(i1)  What is the distance of the pole B from the corner O of the park ?

(iii)) (a)  Find the position of the fourth pole D so that the four points
A, B, C and D form a parallelogram ABCD.

OR
(b)  Find the distance between poles A and C.

Case Study -3

Deepankar bought 3 notebooks and 2 pens for ¥ 80 and his friend
Suryansh bought 4 notebooks and 3 pens for ¥ 110 from the school

bookshop.

-Juhl—; _J_._J __!

| \’f

Based on the above information, answer the following questions.

(1) If the price of one notebook be ¥ x and the price of one pen be ¥ y,
write the given situation algebraically.

(i1) (a) What is the price of one notebook ?

OR
(b)  What is the price of one pen ?

(iii) What is the total amount to be paid by Suryansh, if he purchases
6 notebooks and 3 pens ?

14-430/4/1 Page 23
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1.  HEFA 40 3N 30 % f9C HCF x LCM @ :

A) 12 (B) 120

(C) 1200 (D) 40
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i)
(it)
(ii1)

(iv)

(v)

(vi)

(vit)

(viii)

(ix)

(x)

This question paper contains 38 questions. All questions are compulsory.
This question paper is divided into five Sections — A, B, C, D and E.

In Section A, Questions no. 1 to 18 are Multiple Choice Questions (MCQs) and
questions number 19 and 20 are Assertion-Reason based questions of 1 mark
each.

In Section B, Questions no. 21 to 25 are Very Short Answer (VSA) type
questions, carrying 2 marks each.

In Section C, Questions no. 26 to 31 are Short Answer (SA) type questions,
carrying 3 marks each.

In Section D, Questions no. 32 to 35 are Long Answer (LA) type questions
carrying 5 marks each.

In Section E, Questions no. 36 to 38 are case study based questions carrying
4 marks each. Internal choice is provided in 2 marks questions in each
case study.

There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 2 questions in Section C, 2 questions in Section D and
3 questions in Section E.

: : 22 : :
Draw neat diagrams wherever required. Take 1 = - wherever required, if not

stated.

Use of calculator is not allowed.

SECTION A

This section comprises multiple choice questions (MCQs) of 1 mark each. 20x1=20

1.

HCF x LCM for the numbers 40 and 30 is :
A 12 B) 120
(C) 1200 (D) 40

15-430/5/1 P.T.O.
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foema afiehor x2 + 3x - 10=0Fh A & :
(A) 5,2 (B) -5,2
C) 5,-2 D) -5,-2

geh Ffiertol T 2kx + 5y = 7, 6x + 5y = 11 <l el Teh (g g BT,
g

(A) k=#3 B) k#-3
1 1
C) k;tg (D) k;t—g

Ife Teh TR S 1 7Y 3T Fgcish HA: 28 AN 16 8, dl 39 &7 Wl
IS B

(A) 22 (B) 235
C) 24 (D) 245

Teh U Ueh IR @™ T | Toh {90 TS G961 UTed 8 ohl JTRIehdT a1
73?

(A) (B)

C) (D)

Wi o
Bl w|Hm

3y fr 901 % wh FBrouEve F 4, 99 F Sk B % 3, @ froaEre
T HelT BV 7

(A) 30° (B) 45°

(C) 60° (D)  90°

TEAT 424 1 AT UGS 8 :
(A) 2x53x4 B) 2x53x2
(C) 23x53 (D) 24x53
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The roots of the quadratic equation x2+ 3x—10=0 are:
(A 5,2 B) -5,2
(C) 5,-2 D) -5,-2

The pair of linear equations 2kx + 5y = 7, 6x + 5y = 11 have a unique

solution, if

(A) k=#3 B) k#-3
1 1
(C) k;tg (D) kq&—g

If the mean and mode of a frequency distribution are 28 and 16

respectively, then its median is :
(A) 22 B) 235
C) 24 (D) 245

A die is rolled once. What is the probability of getting an odd prime

number ?
1 1
(A) o (B) 3
2 3
(C) 3 (D) 1

If the area of a sector of a circle is % of the area of the circle, then the

central angle of the sector is :
(A) 30° (B) 45°
(C) 60° (D)  90°

Prime factorisation of 424 is :

(A) 2x53x4 (B) 2x53x2

(C) 23x53 (D) 24x53

15-430/5/1 P.T.O.
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Ife x Th 0T AT 8, Tl x ok fohH A i DS 8 T 37eh T FHTH BT © ?

(A) 6 B 4
C 2 (D) 0

S T @ U US hl BT 7 m el g, 99 gI Bl A 45° 7 | U i
S ©

A 73 m ®) <3 m

(C) 7m (D) 35m

et

cot2 0 cos2 0

A 1 B) 5
(C) -5 (D) O

If¢ tan2 0 = 3, &1 0 Teh =[J IVl &, Al O H AN © :
(A)  30° (B) 60°
C) 0° (D) 45°

12 cm T3 910t T 99 6l T =4 H TERE 10m em @ | IE T9 IA % g T
ST hgId iVl AT Ll 8, 98 & :

(A)  120° B) 6°
(C) 75° (D)  150°

Ife s g9 i gt Brewnedt & s &1 B 130° 2, a1 37 Breenedt & il w s
TR X@at o offe 1 IR

(A) 50° (B) 60°

(C) 90° (D) 130°
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8. If x is a whole number, then 8% ends with an even digit, except for which
value of x ?
(A) 6 B 4
< 2 (D) 0
9. A tree casts a shadow 7 m long on the ground, when the angle of
elevation of the Sun is 45°. The height of the tree is :
A) 73 m (B) %ﬁ m
(C) Tm (D) 35m
10. 52 - 52 is equal to :
cot”® cos“0
A 1 B) 5
C) -5 (D) 0

11. If tan? 6 = 3, where 0 is an acute angle, then the value of 0 is :
(A) 30° (B) 60°
(O (D) 45°

12. The length of an arc of a circle with radius 12 cm is 10n cm. The central

angle subtended by this arc at the centre, is :
(A)  120° (B) 6°
(C) 75° (D) 150°

13. If the angle between the two radii of a circle is 130°, then the angle
between the tangents at the ends of these radii, is :

(A)  50° (B) 60°

(C) 90° (D)  130°

15-430/5/1 P.T.O.
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feamd @Hiehtol x2 — 4x + 3 = 0 1 fafahert (discriminant) ® :

(A) 28 (B) -8

C) 4 (D) 2

feigati A2, 8) 3R B(- 6, 4) %! WA a1t TREE AB 1 A6 &
A (2,6) B) (-4,12)

(C) (-4,6) D) (4,-6)

g O dd Id W oTel foig A 9 & T9Ri3@d AP 3T AQ TER 90° % i T
g g 7 | A T TRt i S 2 em 7, A g BT R

(A) 4cm (B) 2cm
(C)  2V2 em (D) 1cm
Jg fem T 2 f6 AABC~ADEF. 9 L A=55°, /E=45°%, A1 L C® :

(A)  80° (B) 90°

(C) 55° (D)  45°
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The discriminant of the quadratic equation x2—4x+3 =10 is:
(A) 28 B) -8

Cc 4 D) 2

The mid-point of the line segment AB joining A(- 2, 8) and B(- 6, 4) is :
A (2,6) B) (—4,12)

(C) (-4,6) (D) (4,-6)

AP and AQ are tangents drawn from an external point A to a circle with
centre O and inclined to each other at an angle of 90°. If the length of

each tangent is 2 cm, then the radius of the circle is :

(A) 4cm (B) 2cm

(C) 242 em (D) 1cm

It is given that A ABC ~A DEF. If # A =55°, Z/ E =45°, then £ C is :
(A) 80° B) 90°

(C) 55° (D)  45°

15-430/5/1 P.T.O.
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18. & T 3pfd H, By ABC H, DE || BC g | A AD = 2x cm,

AE=(x+2)cm,DB=4cm,EC=3cm36',?‘ﬁxwm%:
A

ZXWJF 2) em
D > E
4 cm/ &cm

Cal

B C

A 3 B) 2
(C) 6 (D) 4

o7 G&IT 19 37K 20 37FeT vq a% eia 397 & | § F97 1€ 7T 3 577 v @1
SYFHIT (A) T TR B 7% (R) GRT 371 1697 7737 & | 37 Fo71 & @& IR 14 157
77 F18] (A), (B), (C) 3T (D) & @ g g |
(A)  IAWHHAT (A) 3N T (R) I ¥&1 8 AR deh (R), IR (A) i @&l
ST LT 7 |

(B) MM (A) 3R o (R) GHI &l 8§, Tq b (R), 3THAT (A) i @&l
TS 7gT HLdl 7 |

(C) AMHeH (A) T& 8, Wg e (R) TeId & |

(D) AMHeH (A) TeId &, g % (R) T& 7 |

19. 37UFYT(A): TS UTHT Sehd W, TEAT 8 YTed B <l TTRIRaT I (0) 7 |

7% (R) : Th STEYS HeAT hl TTrehdl I (0) BI<AT B |

20. IHFHIT(A): TAFR UG 5,1,-3,—7.. 1 G943 |

7% (R) : AR G a;, ag, Az .., a, P @ IR UH B 3

d=an—an_1ﬁ |
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18. In the given figure, in A ABC, DE || BC. If AD = 2x ¢cm, AE = (x + 2) cm,
DB =4 c¢cm, EC = 3 cm, then the value of x is :

A
2x cm (x+2) cm
D > E
4 cm 3 cm
B ” C
A 3 B) 2
(C) 6 (D) 4

Questions number 19 and 20 are Assertion and Reason based questions. Two
statements are given, one labelled as Assertion (A) and the other is labelled as
Reason (R). Select the correct answer to these questions from the codes (A), (B),
(C) and (D) as given below.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

19. Assertion (A) : The probability of getting number 8 on rolling a die is

zero (0).

Reason (R): The probability of an impossible event is zero (0).

20. Assertion (A) : Common difference of the A.P. 5,1,-3,—-7 .... is 4.

Reason (R): Common difference of the A.P. a,, a,, a5 ...., a,, is obtained

byd=a,—-a__;

15-430/5/1 Page 11 P.T.O.
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21.  sin2 30° + cos2 45° — cos 0° . tan 45° ST HIF AT hIT |

22. (a) 98 IUE ;@ i fEd fog (3, y), ogati (- 2, — 5) 3R (6, 3) =l
fireT a1t WareE & foaifSa s 8 | y 1 |/ o} 9 Shif |

AT

(b) y-31& W 38 fag &l F1@ FIC 1 fagati A6, 5) 3R B(- 4, 3) & 99N
U

23. ﬂﬁ%JHHWkXZ—X—2=OW@H§[§%,?ﬁkWWWWI

24. Th fag A¥, S TH 910 % g ¥ 10 cm G W B, g0 W W= 73 T=I-L@r 6
€ 6 cm® | g9 i s ma Hif |

25. (a) IR o, pTgumd 9898 2x2 + Tx + 5% IR &, Al o + 2 + oaf H AH
F1d HIfT |

AT

(b) afg feema ag9a 6x2 + 37x — (p — 2) FT Th IAeh, T T I FGHA
2, @ p 1 AH 1@ HINT |
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SECTION B

This section comprises Very Short Answer (VSA) type questions of 2 marks
each. 5x2=10

21. Evaluate : sin? 30° + cos? 45° — cos 0° . tan 45°

22. (a) Find the ratio in which the point (3, y), divides the line segment
joining the points (- 2, — 5) and (6, 3). Also, find the value of y.

OR

(b)  Find a point on y-axis which is equidistant from the points A(6, 5)
and B(— 4, 3).

23. If % is a root of the quadratic equation kx? — x — 2 = 0, then find the

value of k.

24, The length of a tangent drawn to a circle from a point A, at a distance of

10 cm from the centre of the circle, is 6 cm. Find the radius of the circle.

25. (a) If o, P are zeroes of the quadratic polynomial 2x2 + 7x + 5, then

find the value of o2 + B2 + of.

OR

(b)  If one zero of the quadratic polynomial 6x2 + 37x — (p — 2) is

reciprocal of the other, then find the value of p.

15-430/5/1 Page 13 P.T.O.
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26. fug HIST I 6 + 342 T fmy e &, Sefe e T g 6 V2 @
SNET G B |
27. fgaTd 9gug 6x2 — Tx — 3 % I 1A hINIT 3TN I qAT FFIG o ORI
o= & g9y & Far 1 = hIT |
28. ﬁ@ﬁﬁ?:(sin6+cosec 0)2 + (cos 0 + sec 0)2 =7 + tan2 0 + cot2 0
29. (a) g Fifou for fore g < wfora TR =gy T9=gys giaT & |
AT
(b) Tag Hfe fr forelt smar fog @ a0 &= 7 woei-XEneT i et
ERE G
30. (a) 20 m Y3 91 Ush GHETE HYSTHR HGM % Ueh 4 T Teh HIg ! 14 m
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HIgT =/ 8] Hehdl 8 |
AT
(b) @@ﬁﬁ%‘ﬁgﬁﬁmMcm%Iwmﬁgﬁm
8:00 am 37 8:05 am = % I H Ud &A%l Fd hIFVY |
31. famgall A5, — 3) 3R B(- 4, 3) &l fHaM a1 {@T@s 1 TH-HWING A e

fagati & fgemes 3 iR |
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SECTION C

This section comprises Short Answer (SA) type questions of 3 marks each. 6x3=18

26. Prove that 6 + 3+4/2 is an irrational number, given that /2 is an

irrational number.

27. Find the zeroes of the quadratic polynomial 6x% — 7x — 3 and verify the

relationship between the zeroes and the coefficients of the polynomial.
28.  Prove that : (sin 0 + cosec 0)Z + (cos 0 + sec 0)2 = 7 + tan? 0 + cot? 0.
29. (a) Prove that the parallelogram circumscribing a circle is a rhombus.
OR

(b)  Prove that the lengths of the tangents drawn from an external

point to a circle are equal.

30. (a) A horse is tied with a 14 m long rope at one corner of an
equilateral triangular field having side 20 m. Find the area of the

field where the horse cannot graze.
OR

(b)  The length of the minute hand of a clock is 14 cm. Find the area
swept by the minute hand between 8:00 am and 8:05 am.

31. Find the coordinates of the points of trisection of the line segment joining

the points A(5, — 3) and B(— 4, 3).

15-430/5/1 Page 15 P.T.O.
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Ife e =k 9fd HEH °§ T 2,000 =T odl 8, A 3I9ehl HIfdes 31T 304

Hifrg |

34. (a) U B ABC &l Y9W AB, BC a7 HIEIT AD Ush 3= B PQR
$I A YIS PQ, QR YT HWIfewshl PM & WWTUT & | g3se TR
AABC ~APQR? |
3rera
(b) fag e fo afe foredt Brge 1 b o & wmiae o= Q@ yoeTt
i fomgatl W ufd=aed * & fae we W Efi=t e, @ 3= q
yoITd Ueh &1 1gura A feanrfora &t § |
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SECTION D

This section comprises Long Answer (LA) type questions of 5 marks each. 4x5=20

32. (a) A toy is in the form of a cone of radius 7 cm mounted on a
hemisphere of same radius. The total height of the toy is 31 cm.
Find the surface area of the toy.

OR

(b) A wooden article was made by scooping out a hemisphere from
each end of a solid cylinder. If the height of the cylinder is 15 cm
and its base is of radius 4:2 cm, then find the total surface area of
the article.

33. The ratio of monthly incomes of two persons is 9 : 7 and the ratio of their
expenditures is 4 : 3. If each of them manages to save ¥ 2,000 per month,

then find their monthly incomes.

34. (a) Sides AB, BC and median AD of A ABC are respectively
proportional to sides PQ, QR and median PM of A PQR. Show that
A ABC ~ A PQR.

OR

(b)  Prove that if a line is drawn parallel to one side of a triangle to
intersect the other two sides at distinct points, then the other two

sides are divided in the same ratio.

15-430/5/1 Page 17 P.T.O.
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35. fr=faRaa swemar e aneft foreft Argg & 70 IuweeTt & fasieft 6 arfis
WA ST B | $7 3T(hSI hl AL 1A hIfoT |

?T%‘?g S 6 e
65 — 85 7
85 -105 8
105 - 125 7
125 — 145 20
145 — 165 14
165 — 185 9
185 — 205 5
wus &

5 GV H 3 JHT S7eFT STERT F97 & 577 Jcd% & 4 37 & | 3x4=12

TeRTUT ST - 1

36. TR GYeT : T % UH Fd H I8 U 1 o 3@ a6 o g, wgw U
AR | 51% IREW T s s=1 781 AT, 20% YRER H Ush &=, 19% IR
T Qo= 7% TRaW § 9 9= 3R 3% qiEr § =R a1 At 9= o |

T AR Igesdl A1 I 7 |
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35. The following frequency distribution table gives the monthly
consumption of electricity of 70 consumers of a locality. Find the median

of the data.

Monthly consumption Number of

(in units) consumers
65 — 85 7
85— 105 8
105 - 125 7
125 — 145 20
145 - 165 14
165 — 185 9
185 — 205 5

SECTION E

This section comprises 3 case study based questions of 4 marks each. 3Ix4=12

Case Study -1

36. Family structure : In a recent survey of this year, 51% of the families in
the United States of America had no children, 20% had one child, 19%
had two children, 7% had three children and 3% had four or more
children.

A family is selected at random.

15-430/5/1 Page 19 P.T.O.
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3TTh BRI o ATYR T, FfcTigd gt o I ST
(i) g4 U UNER ® g A fF a=dl o g ol TTRehdT F1d HIfT |
(i) g4 T URGR § T § AfUH F=A1 o g shl ITRIehdl 1A ShilT |

(i) (a) g4 TCURGR § A & H = b g sl TTIhal A1 HIT |
AAAT

(b) g TC YNGR H g & AT Sl o I ! TTRehdT F1d hifT |
qhI0T 3AETIA - 2

37. Gud ! A 4 Tk A5 Sl hl R Y& hl | Sl Bl YGRIA HH QI
ugell fth § 3 SISt d W, gH Uik | 5 A€l Sd W, dEd 9iw § 7 et S
W ¥ |

SOCIAL METHA TEMPLATE

3TYh SR o YR T, Fferiad Tt o I i

() B3 ufe § fohad I S W@ B 2

(i) Ugel 3R Bt ufern § Tt St <t it § fepamm oiaw B 2

(iii) (a) @ <hIfTT Belt 15 Ufral # For foraft Sl 1 Sifeat @ 8
& |

AT
(b) ARG =refl ufth W YGRM Sl hl I el T 500 hl HhiFd T

orsht o fora 7, @ 9a e fob gaa i Af ot fohat gmai
Ha1 ot Afg 98 A= o S fh <veft ufr § @it S A ot
Siifeat foh wmeht 2 |
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Based on the above information, answer the following questions :
(1) Find the probability that the selected family has two or three

children. 1

(ii1) Find the probability that the selected family has more than one
child. 1

(iii)) (a) Find the probability that the selected family has less than
three children. 2

OR

(b)  Find the probability that the selected family has more than

two children. 2

Case Study - 2
37. Sumant’s mother started a new shoe shop. To display the shoes, she put
3 pairs of shoes in the 15t row, 5 pairs in the 24 row, 7 pairs in the 3td
row and so on.

SOCIAL MEDMA TEMPLATE

Based on the above information, answer the following questions :

(1) How many pairs of shoes are displayed in the 6t row ? 1
(i)  What is the difference of pairs of shoes in the 15t row and the
6th row ? 1
(iii) (a) Find the total number of pairs of shoes displayed in the first
15 rows. 2
OR

(b)  If the pairs of shoes displayed in the 4! row are ‘on sale’ at
price of ¥ 500 for each pair, then find the total amount
(money) earned by Sumant’s mother if all shoes displayed in
the 4th row are sold out. 2

15-430/5/1 Page 21 P.T.O.
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[=1 4308

o

[= 64

Th0T 3ETIAT - 3

-3 S8 o & TFY I S T 3R 40 m I g8 W @S § | aHi
GH I T TH & SW U g @H o A< T I dRi gl Hgr fean wiman
2 | Th I (coupling) 1 f5ig C W wam mm }, Wef &t dW i@ w § (S
arrepfc o femrmm ) |

Q

60° 30°
«—40m—>

P

IT*h eI o YR W, FeferRaa get o I i
(i) @Y ABhl 39T I HifU |
(i) @H PQ I = F1d IV |

(i) (a) I @Y PQ o @ =1, @Y AB & 3@ ®, I S0 30° 3,
dl gt BQ ST =i |

AT

(b) I JHF (coupling) FHH & 20 m I =T W 8, 1 DI @H AB
Y qR o A I fopaft g w R 2
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Case Study - 3

Two poles of different heights stand on level ground and at a distance of
40 m. Both poles are supported by wires attached from the top of each
pole to the bottom of the other. A coupling is placed at point C, where the
two wires cross (as shown in the figure).

60° 30°
«—40m—

P

Based on the above information, answer the following questions :
1) Find the height of pole AB.
(ii)  Find the height of pole PQ.

(iii) (a) If the angle of elevation of the top of the pole PQ from the
top of the pole AB is 30°, find the distance BQ.

OR

(b)  If the coupling is at a height of 20 m from the ground, how
far down the wire from the smaller pole AB is the coupling ?

15-430/5/1 Page 23
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QAT 7397 :
fAeforfaa fAden @t aga araei @ feT 3k 37T GTer iy :

1.
2.
3.

NS A

9.
10.

59 J9-T7 H 38 T &1 ¥t 97 AHEH B

Y9T-U Ui GUel # [G9ifIid & - @Ue &, @, T, g d9T S

QUE & H Jv HEIT 1 § 18 T% aglashedld 91 97 §&41 19 T 20 AHIT U9
Teh TITRT 1 3% & T3 8|

WUE @ 4 v G&IT 21 G 25 % 3Ad AY-ITRIT (VSA) TR & 2 371 & T &
WUE T G Y9 GEIT 26 T 31 % TY-IRIT (SA) TFR & 3 3Pl & T3 3|

TUE g 4§ ¥ G&IT 32 G 35 a%F qld-3o’id (LA) IR & 5 37l & I3 8|

TS T I 9 &7 36 § 38 GId/THI0T Skl HTUTRA 4 3] & I3 8/ Halke
faseq 2 37l & T § fqar T Bl

Y-93 § GHY fasheq & foar a7 31 F=f, @ve @ % 2 Y §, @S T & 2 gl
4, @us g % 2 I3 H a9T @US T & 3 I 4 HIaieh faeheyq &1 Jaen foar
gl

ST ST & Tes Al F1| Al v &1 dl w = 22/7 |

TP 1 ITINT FRA 31

©usg — <h 20x1=20

T HEAT 1 | 20 Tk Tgirehea T § AT Tl W9 1 31k 1 2

1.

2.

3.

4.

5.

ke < Tor| A o fOTQ 589G k? —4x—7 % I R RS 2 8 7 1

@ - O 2 © 3 @ -

T GHIAL AT H, A =8 A ¢, =—19 &, dl d FI A ¢ : 1

(@) 3 ® -4 © = @ 3

[y

fagai (-1, 3) qen (8,%)@&@%%@@3%11@—%@% :

03 03 0B 0l

Zlﬁsin(%:%%ﬁﬁsecﬂﬁh‘rﬂﬂ%: 1
22 3 1

@ =3 (b) N5 (© 3 (d) NG

HCF (132,77) = : 1

(a) 11 (b) 77 (c) 22 (d) 44
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General Instructions :
Read the following instructions carefully and follow them :

1.

2.
3.

9.

10.

This question paper contains 38 questions. All questions are compulsory.
Question paper is divided into FIVE sections — SECTION A, B, C, D and E.

In section A, question number 1 to 18 are multiple choice questions (MCQs)
and question number 19 and 20 are Assertion — Reason based questions of
1 mark each.

In section B, question number 21 to 25 are very short answer (VSA) type
questions of 2 marks each.

In section C, question number 26 to 31 are short answer (SA) type questions
carrying 3 marks each.

In section D, question number 32 to 35 are long answer (LA) type questions
carrying 5 marks each.

In section E, question number 36 to 38 are case—based integrated units of
assessment questions carrying 4 marks each. Internal choice is provided in
2 marks question in each case study.

There is no overall choice. However, an internal choice has been provided in 2
questions in Section B, 2 questions in Section C, 2 questions in Section D and 3
questions in Section E.

Draw neat figures wherever required. Take m = 22/7 wherever required if not
stated.

Use of calculators is NOT allowed.

SECTION - A 20x1=20

Q. No. 1 to 20 are Multiple Choice Questions of 1 mark each.

1.

For what value of , the product of zeroes of the polynomial kx> —4x—7is2? 1

1 7 7 2
@ -1 b) —5 © 5 d) -5
Inan AP, ifa=8 and a,,=-19, then value of d'is : 1
11 27
@ 3 0 -5  © - (@ -3
The mid-point of the line segment joining the points (-1, 3) and [8, %) is : 1
7 3 79 9 3 79
@ G3 ©G) 0G4 oGy
Ifsin 0= %, then sec 0 is equal to : 1
242 3 1
a) —— b) — c) 3 d —
@ =3 (b) N5 (c) (d) NE
HCF (132, 77) is : 1
(a) 11 (b)y 77 (c) 22 (d) 44
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10.

11.

12.

13.

14.

15.

16.

17.

3
=]

af faaTa TR 4 — S+ k = 0 3 T ARAE S wH E, A kA R

@ 3 ® 2 © - @ -2
Ifg Uk WA & A I TRERT p 8, A1 8k gRA ol Uk | ¢
@ 1+p (b) —p © p-1 d 1-p

fagatl (2, -3)du(2,3) A F gl 2

(a) 2JI3TFE (b) 5TFE  (c) 12 TR (d) 103FT

0% fora A o T, sin0+sinB+cos’0 HI AR 2 7 7

(a) 45° (b) 0° (c) 90° (d) 30°

52 Ui i TS TRR " el g a1 hI TE H H AGTSAT Th I R
97| el T U % Tk ATl W1 ST STt Ol @ shl IRk @ ¢

@ ) = O @ 5¢

Ife g Ffved =) x 0 0 yafeya wifesdt feel & g TuE 9r o
Tt =swear 7, a1 x 1 A hEl ST 8§
(a) WA (b) HIETH (c) =EAh (d) ufEr

e e e Tt 1 ST 2

(a) %cucm (b) %cucm (©) %cucm (d) 154 cucm
fopeft e o1 WIeR QT WIEASh AT 21 9 23 21 36 A I FEAH @

(a) 27 (b) 22 ) 17 d 23

T A UF hl STg a1 BT AN 24 cm qAT 7 cm B 39 WF H
T S=E ®

(a) 24cm (b) 31cm (c) 26cm (d) 25cm

afe fgamd sgue (a—1)x? +oor+1 1 Tk I —3 B, o %1 AH 2 -
2 2 4 3

@ -3 b) 3 © 3 d) 7

T I o A hl A 6 cm gl G T ATE H TH &0 (— 4, 0) W g, @l
TahT a0 o, S - W, R
(@) (0,2) (b) (6,0) () (2,0 (d) (4,0
k=1 a8 T fSeek fote Was arfieor I Sx+2y—7=0 A 2x+hky+1=0
1 IS & T 8, ¢

4 5 5

@ 5 b) 3 © 7 @ 3
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11.

12.

13.

14.

15.

16.

17.
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If the roots of quadratic equation 4x*—5x+k =0are real and equal, then
value of k is :

5 25 5 25
@ 7 ®) ¢ © -7 d) —1¢
If probability of winning a game is p, then probability of losing the game is :
(@) I+p (b) —p (c) p-1 (d 1-p

The distance between the points (2, —3) and (-2, 3) i1s :
(a) 2413 units (b) Sunits  (c) 13+2 units (d) 10 units

For what value of 0,sin?0+sin0+cos”0 is equal to 2 ?
(a) 45° (b) 0° (c) 90° (d) 30°
A card is drawn from a well shuffled deck of 52 playing cards. The

probability that drawn card is a red queen, is :

@ ® = © @ 5

If a certain variable x divides a statistical data arranged in order into two
equal parts; then the value of x is called the :

(a) mean (b) median (c) mode (d) range

of the data.

The radius of a sphere is %cm. The volume of the sphere is :

(a) %cu cm  (b) %cu cm (c¢) %cu cm (d) 154cucm

The mean and median of a statistical data are 21 and 23 respectively. The
mode of the data is :

(a) 27 (b) 22 (c) 17 (d) 23

The height and radius of a right circular cone are 24 cm and 7 cm
respectively. The slant height of the cone is :

(a) 24cm (b) 31cm (c) 26cm (d) 25cm

If one of the zeroes of the quadratic polynomial (o.—1)x* +ox+1 is -3, then
the value of a is :

(@) -2 ®) 2 © 3 @ 3

The diameter of a circle is of length 6 cm. If one end of the diameter is
(=4, 0), the other end on x-axis is at :

(@) (0,2) (b) (6,0) (¢) (2,0 (d) (4,0

The value of k& for which the pair of linear equations 5x+2y—-7=0 and
2x+ky+1=0 don’t have a solution, is :

@) 5 ®) 3 © > (@

| D
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18. < U8 Uk 1Y 3IBTA MU Teh Tk o 37 <l Iifiehar 2 -
@ = O 5 © ¢ @ 2

ICCH

Y TEAT 19 AAT 20 TAF | Tk ANMHAT (A) * Uved Tk qeh (R) fam )

fire & &t forewew g -

(a) Qi SAFAT (A) T Tk (R) T 2| Tk (R), AR (A) hil o1 =mean
LT 2|

(b) I, 3MFHLT (A) T T (R) T 2| T (R), MIHT (A) il =amen &
AT 2|

(c) SAMTRYA (A) IT 8 Weg @k (R) 3FHA 2|

(d) NI (A) 316 & Sl deh (R) ¥cd 2

19. A

(>

B
ATHHAT (A) : IlE g O 911 g W T oal folg P & T%1 WY PA doM0
PB @i+ 7 ¥, a1 =qySl OAPB U b =gy 2|

T* (R) : T <ThiF TS % T I FHH B B
20. ATHHRAT (A): TGIE p(x)=x*>—2x—3 % I —1 qA1 3 E|
s (R) : TgIG p(x)=x>—2x—3 H AH x-3& =l (-1, 0) 7T (3, 0)
T I B
o us - g

Y HEAT 21 | 25 T 3Mfd TY-3IW T1A 997 §, R aedes 2 3k 1 2|

21. A ABC &I 451 BC W T foig D 39 Y%K 8 6 LADC = ZBAC. &xIisT T
AC?=BCxDC. A
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18. Two dice are rolled together. The probability of getting a doublet is : 1
2 1 1 5
@ 3¢ b) 3¢ © ¢ d) &

Directions :

In Q. No. 19 and 20, a statement of Assertion (A) is followed by a statement

of Reason (R). Select the correct option from the following options :

(a) Both, Assertion (A) and Reason (R) are true. Reason (R) explains
Assertion (A) completely.

(b) Both, Assertion (A) and Reason (R) are true. Reason (R) does not explain
Assertion (A).

(c) Assertion (A) is true but Reason (R) is false.

(d) Assertion (A) is false but Reason (R) is true.

19. A

B

Assertion (A) : If the PA and PB are tangents drawn to a circle with
centre O from an external point P, then the quadrilateral
OAPB is a cyclic quadrilateral.

Reason (R) : In a cyclic quadrilateral, opposite angles are equal. 1

20. Assertion (A): Zeroes of a polynomial p(x)=x*-2x—3are—1 and 3.

Reason (R) : The graph of polynomial p(x)=x*-2x-3 intersects
x-axis at (—1, 0) and (3, 0). 1

SECTION - B
Q. No. 21 to 25 are Very Short Answer Questions of 2 marks each.
21. D is a point on the side BC of AABC such that ZADC = ZBAC. Show that

AC? =BCxDC. A 2

C3ABD/1 /31 P.T.O.



22,

23.

24.
25.

%
[=1&:
(A) Fefafea Was w39 &6t x, y & o, semficda fafa @ g
T
x+2y=9dqMy—2x=2
AT
(B) Sta Hfw foh w1 fog (-4, 3), Wask wfisroli x +y + 1 =0 @M
x—y=1gr FEta st w fom 2l
(A) foag FIvT fF 6-445 = st e 2, oo & 6 5 = smfam
&1 2
AT
(B) w3 foh 11 x 19 x 23 +3 x 11 Uk AT GE&AT T&l 2|
?II'FQ’A=3O° HﬂTB=45°%,?ﬁsinAcosB+cosAsinBWﬂﬂ3ﬁ3ﬁﬁQl
TH I H 4 A, 5 T a1 S el T HI I 2| AR I § | AgesdA T
mmﬁaﬁwuﬁaﬁuﬁw%iaﬁ%ﬁﬁwwﬁﬁmaﬁﬁa
Freprer s Trfierar sa A
w|UE - T

U9 HEAT 26 B 31 Tk TTY—I TTA U9 & RITH Tk 3 37k T 2|

26.

27.

28.

29.

al M ufedl A 20 e qun 25 fife % 3iaua © oM s 31 afe
I8 YAl 9K Tk HIY QUG &+ 12.00 9 A Sl 2 dl 38k o I8 T
Tk 1Y Tohdd o9 o™ sarft ?

g HT BT H T HIv, DI 0T A 18° ARy 71 I HION % AU A@
i)
fagatl (— 2, 2) @91 (7, — 4) 1 AW I [@EUE H qH GHE qET H S
a1t fergati < ficere @ i)
(A) @ TE Rfa H, 4 kg gai A
oo OA =r cm @1 OQ = 6 cm 2|
g A hl SfaT CD Bl I &l Q W 0
TS It 31 A PA = 16 cm @1 OP

C D
Q
=20 cm 8, d a1 CD < a=E J1d \_/

EASIY
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22. (A) Solve the following pair of linear equations for x and y algebraically :

x+2y=9andy—-2x=2 2
OR
(B) Check whether the point (— 4, 3) lies on both the lines represented by
the linear equationsx +y+1=0and x—y=1. 2
23. (A) Prove that 6-4+/5 is an irrational number, given that J5 s an
irrational number. 2
OR
(B) Show that 11 x 19 x 23 +3 x 11 is not a prime number. 2
24. Evaluate : sin A cos B + cos A sin B; if A =30° and B =45°. 2

25. A bag contains 4 red, 5 white and some yellow balls. If probability of

%, then find the probability of drawing a

yellow ball at random. 2
SECTION - C

Q. No. 26 to 31 are Short Answer Questions of 3 marks each.

drawing a red ball at random is

26. Two alarm clocks ring their alarms at regular intervals of 20 minutes and
25 minutes respectively. If they first beep together at 12 noon, at what time
will they beep again together next time ? 3

27. The greater of two supplementary angles exceeds the smaller by 18°. Find
measures of these two angles. 3

28. Find the co-ordinates of the points of trisection of the line segment joining

the points (-2, 2) and (7, — 4). 3
29. (A) In two concentric circles, the radii
are OA =r cm and OQ = 6 cm, as A

shown in the figure. Chord CD of
larger circle is a tangent to smaller

circle at Q. PA is tangent to larger O / P
circle. If PA = 16 cm and OP = 20

C Q D
cm, find the length CD. \_/ 3

C3ABD/1 /31 P.T.O.
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(B) @ T MFA H, O g I IH W TH 1 /
fiig T& & ot Y@ TP @om TQ Wieht 3 ’)’
21 fog Hifsw B £PTQ =2 ZOPQ 0

30. (A) U 3 Tk oo o AR T & [ofFeh gl fohid W 38T B & aned
el 81 39 3™ & Pl Ha15 20 cm & T S H1 A 14 cm 7l 39
31 1 g &6 {1 HIfSU)
Jrran
(B) S 1 U fIATE SRR 3TTRR <l 8 T8R! 3TN T S0 33 LM
% SRR 1 2| e 1 AT sa@ 10 cm 8 @91 S 14 cm 21 39
firama it et wma Ffw) (o= 3.14 s
31. fag FIfT : (cot®—cosec 6)2_1—c0s9

" 14cos6

Qg - ¥
9 WEAT 32 W 35 Tk qre -3 a1t Uy &, T a5 3tk @ )
32. (A) g Foreht Fre <t ok ST % TEIGR o 1 yedt W fie-firm fogat
T Yfdeade *1 & fou ws W@ di=h o, @ fag fifve 6 3 = @

yeITd Ueh € SfaTa ° fawifra gt 2

HAAAT

(B) T Brqst ABC i qo¢ AB

A

3 AC qn Hifedht AD Teh
3= BYs PQR it sl
PQ 3R PR qer Atfedsn PM

¥ s FuEE ¥ e B D C Q M
f% AABC ~ APQR 2|
33. HHIR I 27, 24, 21,..... % fohad TG 1 T 105 & ? IH A BT HH-AT
wCYAR ?
34, (A) TH HAA W W @S HAR I g W ug T SR 40 Mt o6l & T
S T N IAG 60° F 30° 7 AT HHER K Sang q°m AT H S

BT hl A& F1d i) (/3 = 1.73 <ifvm)
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S
OR
(B) In given figure, two tangents
PT and QT are drawn to a
circle with centre O from an

external point T. Prove that
ZPTQ =2 ZOPQ.

30. (A) A solid is in the form of a cylinder with hemi—spherical ends of same
radii. The total height of the solid is 20 cm and the diameter of the

cylinder is 14 cm. Find the surface area of the solid.
OR

(B) A juice glass is cylindrical in shape with hemi—spherical raised up

portion at the bottom. The inner diameter of glass is 10 cm and it
height is 14 cm. Find the capacity of the glass. (use m = 3.14)

31. Prove that: (cot®—cosec )’ = ;ggzg .

SECTION -D

Q. No. 32 to 35 are Long Answer Questions of 5 marks each.

S

32. (A) Ifaline is drawn parallel to one side of a triangle to intersect the other

two sides in distinct points, then prove that other two sides are divided

in the same ratio.

OR p

(B) Sides AB and BC and
median AD of a AABC are
respectively proportional to
sides PQ and PR and

median PM of APQR. Show B D C Q M
that AABC ~ APQR.

33. How many terms of the A.P. 27, 24, 21, ....... must be taken so that their

sum is 105 ? Which term of the A.P. is zero ?

34. (A) The shadow of a tower standing on a level ground is found to be 40 m
longer when the Sun’s altitude is 30° than when it was 60°. Find the

height of the tower and the length of original shadow. (use V3= 1.73)

C3ABD/1/31 Page 11
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(B) TH Sgae Wad % RieX @ U 8 W, F9 "ed o R qu1 UG *
HATEA IO A 30° qAT 45° 8| TEHNTAT Ho T SIS o1 Gl WalHAl
% s i gt I Al (V3= 1.73 =)
35. BSA 14 cm et I 1 T AT g9 % ohg W 90° T IV ARG L 2
T Y JEve a1 < JTETE % &FhRA Aq HiT|
Eus - ¢
9 TEAT 36 | 38 Tk ThIUT TG U9 2, N6 ueeh 4 31k &1 2|
36. F 1 B0 3R 38T WA o U, WIEAT UHT o S ol I o1 ST hidl
7, Sl JATRR SRR | Fd 8 3R T T & 7 ur fegsd 2
ﬁﬁmﬁaﬁaﬁmwmméﬁaﬁmﬁ%

(R>1)

aaﬁmmaﬂééawm?ﬁmméﬁﬂnonsqm%wﬁ
gl % o= I gl 14 m 2|

SUh STMeRR] & AR W 7= 9341 & 3 i

(i) IWE ¥ RAY 1 & T fgoma afie g Fifs

(ii) had r ¥ T TgEma Trfieor fofay)

(iii) (a) T r 3@ HfST qen gra art foan T eewa e Hifs)

arerat
(b) == R sa AT g g gt fean man e ma il
37. TOA S 99l W MG FE FEA H :-o( ’W

T W 2 I 3T N F §§,'.:.
Tk forU 3 39h aFIga mm H
Tt

C3ABD/1/31 Page 12
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(B) The angles of depression of the top and the bottom of an 8 m tall
building from the top of a multi—storeyed building are 30° and 45°
respectively. Find the height of the multi—storeyed building and the

distance between the two buildings. (use V3= 1.73)
35. A chord of a circle of radius 14 cm subtends an angle of 90° at the centre.
Find the area of the corresponding minor and major segments of the circle.
SECTION - E
Q. No. 36 to 38 are Case-Based Questions of 4 marks each.

36. To keep the lawn green and cool, Sadhna uses water sprinklers which rotate
in circular shape and cover a particular area.

The diagram below shows the circular areas covered by two sprinklers :

(R>T)

Two circles touch externally. The sum of their areas is 130 © sq m and the
distance between their centres is 14 m.
Based on above information, answer the following questions :
(i) Obtain a quadratic equation involving R and r from above.
(i1) Write a quadratic equation involving only r.
(ii1)) (a) Find the radius r and the corresponding area irrigated.
OR
(b) Find the radius R and the corresponding area irrigated.

37. Gurpreet is very fond of doing \
research on plants. She collected some §
leaves from different plants and

e % = Y
measured their lengths in mm. ﬁ “ % . * $
w f
oy

C3ABD/1/31 Page 13 P.T.O.
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TH 3Aiehe e arfetsrt | feu 7o 2 -

@arg (mm #): | 70-80 | 80-90 | 90-100 |100-110|110-120 |120-130]|130-140

Ut sht WA ¢ 3 5 9 12 5 4 2

UL AHFR o SATYR T 7 91 & IR e
(i) ATehgl =1 ATesh ot fefau |
(i) Tera™ o=t <t A& 10 cm AT 39T SAfIE 7 7
(iii) (a) THSI HT HIEF T I

JAAgAT

(b) TS 1 Tgs A [TRIT TAT TgA 1 hITT

38. o T fa # Uk AR qUUN I TF dR % WY GaR W Aehl g3 femmn
T 7| fCO T STR@ TUU SR g O 9Tl T I o €9 H T 7, AP 3R
AQ FHST: P Al Q W I ot Tt @MU §| AfG AP = 30 cm @1 LPAQ = 60°

2
A \

0 \
\ :

STIH SMeRR] & AR W 7= 1 & 3 G -
(i) PQ =l T3 H@ A
(i) m £ZPOQ I HIfu|
(iii) (a) OA I WelTg T1d =hIforg)
FrraT
(b) Tdu i B 7ma Hfvw)

C3ABD/1/31 Page 14
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The data obtained is represented in the following table :

Length (inmm): | 70-80 | 80-90 | 90-100 |100-110{110-120|120-130|130-140

Number of leaves : 3 5 9 12 5 4 2

Based on the above information, answer the following questions :

(1)  Write the median class of the data. 1

(1) How many leaves are of length equal to or more than 10 cm ? 1

(i1i1)) (a) Find median of the data. 2
OR

(b) Write the modal class and find the mode of the data. 2

38. The picture given below shows a circular mirror hanging on the wall with a
cord. The diagram represents the mirror as a circle with centre O. AP and
AQ are tangents to the circle at P and Q respectively such that AP = 30 cm
and ZPAQ = 60°. A

Based on the above information; answer the following questions :

(1) Find the length PQ. 1
11) Find m ZPOQ.
(i) Find m ZPOQ 1
ii1) (a) Find the length OA. 2
(i) (a) g
OR
(b) Find the radius of the mirror. 2

C3ABD/1/31 Page 15
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(i) 39 557-97 4 o738 F97 8 | Tt 597 ST 3 |

(i) ¥o7-97 9 @S] 4 [a97f5id 8 — GU8-&, @, T, T A& /

(iii) @ — & 4 J97 &7 1 T 18 TF Tglashcdid aoT 397 G719 TF 20 379HYT TG
7% STERT 1 375 & Fo7 & |

(iv) @S- @7 597 G 21 25 a% 37 7g-3709 (VSA) FHR & 2 371 & J97 & /

(v) GUS— TH J57 G&I126 G 31 T oTg-TR1T (SA) YhR & 3 3H] & Fo7 8 /|

(i) G- § 7 T G132 &35 7% G15-F0T (LA) TPR & 5 3 & JoT & |

(vii) @US — & 7 97 G&IT 36 T 38 N IeITT IHTENMAT 4 37%] & F57 & | Rk
faebe 2 371 & 97 4 1591 T 8 |

(viii) F97-97 § GHY [aec9 787 1697 711 8 | TEIf9, GUs— & & 2 J541 4, GUs— T & 2 o)
H, GUS— § & 2 I § 79T GUS-F & 3 J91 A SR [9ehcq &7 Jraeli7 197 77 & |
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General Instructions :
Read the following instructions carefully and follow them :

(i) This question paper contains 38 questions. All questions are compulsory.

(it) Question Paper is divided into five Sections — Section A, B, C, D and E.

(iii) In Section—-A question number 1 to 18 are Multiple Choice Questions
(MCQs) and question number 19 & 20 are Assertion-Reason based
questions of 1 mark each.

(iv) In Section—-B question number 21 to 25 are Very Short Answer (VSA)
type questions of 2 marks each.

(v) In Section-C question number 26 to 31 are Short Answer (SA) type
questions carrying 3 marks each.

(vi) In Section—-D question number 32 to 35 are Long Answer (LA) type
questions carrying § marks each.

(vii) In Section—E question number 36 to 38 are Case Study based questions
carrying 4 marks each. Internal choice is provided in 2 marks question
in each case-study.

(viii) There is no overall choice. However, an internal choice has been provided
in 2 questions in Section-B, 2 questions in Section-C, 2 questions in
Section-D and 3 questions in Section-E.

(ix) Draw neat diagram wherever required. Take == 22/7 wherever required
if not stated.

(x) Use of calculators is not allowed.

430/2/1/DA2AB/21 P.T.0.
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Ot ace]
Qg —<h 20x1=20
(sigferereda &)
39 @UE 1 20 Sgfoshedid W94 &, T8 b i1 1 3% 7 |
1.  Ood BRI 2-37h T 3T Te BI 97 9@ w1 HCF # - 1
A4) 2 (B) 20
(C) 40 (D) 4

2. ‘K @1 9M Eeh fote Waes aiehor I x + y — 4 = 0 3 2x + ky — 8 = 0 & uRfa

Wﬁ@lﬁﬂ‘»%ﬁ%,% 1
A) k=2 (B) k=-2
C) k=2 D) k=-2
3. fmiafrmafimusgas? 1
(A) x2—4x+5=0 (B) x2+3x—-12=0
(C) 2x2—Tx+6=0 (D) 3x2—-6x—2=0
4. THEHAIR ZE H, AG d = —4 3R a, = 4 8, T 36 T8 UG ‘2’ TR - 1
A) 6% B) 7%
(C) 20% (D) 28%
5. wWafagEfeg (5, 4)higla: 1
(A) 41 B) 41
€ 3 D) 9
6. qﬁsinA=§%,?ﬁc0tA?ﬂm:[%: 1
3 4
(A) " B) 3
4 5
(C) = D) 1
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Section - A

(Multiple Choice Questions)

Section-A consists of 20 Multiple Choice Questions of 1 mark each.

The HCF of smallest 2 — digit number and the smallest composite number

1S :
A 2 B) 20
(C) 40 (D) 4

The value of k’ for which the pair of linear equations x + y — 4 = 0 and

2x + ky — 8 = 0 has infinitely many solutions, is
A) k=2 B) k=-2
C) k=2 D) k=-2

Which of the following equations has 2 as a root ?
(A x2—4x+5=0 B) x2+3x—-12=0
(C) 2x2—Tx+6=0 (D) 3x2—6x—2=0

In an A.P.,if d =—4 and a, = 4, then the first term ‘a’ is equal to

(A) 6 B) 7
(©) 20 D) 28

The distance of the point (5, 4) from the origin is
A) 41 (B) 41
€ 3 D) 9

If sin A= g , then value of cot A is :

(A) (B)

(© D)

[ B I NG JU
SOt |

430/2/1/DA2AB/21
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(53
2
7 1+tan2AW%:
1+cot” A
(A) sec? A B -1
(C) cot? A (D) tanZ A
2 tan 30°
B T tan?0 T
(A) cos 60° (B) sin 60°
(C) tan 60° (D) sin 30°
9. TguTd Sgue S8eh IR 1 AT —5 3T IR 6 3, & -
(A) x2+5x+6 (B) x2—-5x+6
(C) x2-5x—6 (D) —x%2+5x+6
10. SEUE 322+ 11x— 4 hIIh & :
1 -1
(A) 5,4 B) 5 ,-4
1 -1
©) g,—4 (D) 3,4
11. Ush &L I st 66 feat =1 a1fier 1 a1t fepre = arferent o fean 2
IR (cm W) : 0-10[10-20[20—-30|30—40|40—50 50— 60
feTt Hr @ : 22 10 8 15 5 6
gt a7l AT AT o1 ohl St SIS <l 3T 3 -
(A) 10 B) 15
(C) 20 (D) 30
12. afe P(A) forgt gream A i wifresar <1 gttt &1,
(A) P(A)<0 (B) PA)>1
(C) 0<PB <1 D) -1<P@) <1
430/2/1/DA2AB/21
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1+tan® A .
—— 18 equal to
1+cot™ A
(A) sec?A B) -1
(C) cotZ A (D) tanZ A
2 tan 30° .
1 tan230° 8 equal to
(A) cos 60° (B) sin 60°
(C) tan 60° (D) sin 30°

A quadratic polynomial, the sum of whose zeroes is —5 and their product is
6, 1S

(A) x2+5x+6 (B) x2—-5x+6

(C) x2—-Hx—6 (D) —x%2+5x+6

The zeroes of the polynomial 3x2 + 11x — 4 are :

@ .4 ® 5 .-4

—1
4 O F .4

The annual rainfall record of a city for 66 days is given in the following
table :

Rainfall inecm): [ 0-10|10-20|{20-30|30—-40|40—-50| 50— 60

—
po

Number of days:| 22 10 8 15 5 6
The difference of upper limits of modal and median classes is :

(A) 10 (B) 15

(C) 20 (D) 30

If P(A) denotes the probability of an event A, then
A PA)<O B) PA)>1
(C) 0<P)<1 D) -1<PA)<1

430/2/1/DA2AB/21 P.T.0.
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. 7 cm Frean AT 31 31— B et I ST &

13
(A) 98 1 cm? (B) 147 n cm?
(C) 196 n cm? (D) 228 %n cm?
14. 21 cm 391 % T g0 & 120° % DIV & oY Brso@e 3R @ra i Brows & amwdi
IS :
(A) 231 cm? (B) 462 cm?
(C) 346.5 cm? (D) 693 cm?

15. @ = x 3R y § 5 Rae Gl I a,x + b,y = ¢, 3 a,x + by = ¢, 1 A
et W@t frefud ot g, afe
b a, b, ¢
N N B 2_bi_¢&
()a2b2 ()a2b202
() 2 b _¢ (D) 2 _by ¢
a; by ¢y a, by ¢y

. @ T 3repfer 3w foig P& O ohg ool fobelt 9t W PA 3R PB @it e 80° %
HURYGH & | LABOH AT R :

A

P<)80°

(A)  40° (B) 80°
(C) 100° D) 50°

17. T @1 S Th I 1 Gl - 3T fogaii T hied! 7, Haarmdl & :

(A) e @ (B) fteT
(C) == (D) T-GET
18. afe T 6 m = @Y 1 B 4l W 24/3 m ot B, A g w1 IEA R
(A) 30° (B) 45°
(C) 60° (D) 90°

QRO EEICELCOEEEILCLOEEEIOEOLOOOECEIOEOOCEECIOLOLCOCEOEICEET)
p—t
(o}
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@ =5
13. The total surface area of a solid hemisphere of radius 7 cm 1is : 1
(A) 98 7 cm? (B) 147 © cm?
(C) 196 n cm? (D) 228 %n cm?
5 14. The difference of the areas of a minor sector of angle 120° and its
corresponding major sector of a circle of radius 21 cm, is 1
(A) 231 cm? (B) 462 cm?
(C) 346.5 cm? (D) 693 cm?
©
15. The graph of a pair of linear equations a,x + b,y = ¢; and a,x + b,y = ¢, in
@® two variables x and y represents parallel lines, if 1
(A) a_ by (B) a_b ¢
ag by a, b, c
(©) ﬂ;t;’_lzc_l D) 2 L’_lic_l
dg Dy Cg dg Dy Cg
@ 16. In the given figure, tangents PA and PB from a point P to a circle with
centre O are inclined to each other at an angle of 80°. ZABO is equal to 1
A
P<)80°
®
B
o o
(A) 40 (B) 80

(C) 100° (D) 50°
5 17. A line intersecting a circle in two distinct points is called a 1
(A) secant (B) chord
(C) diameter (D) tangent
18. If a pole 6 m high casts a shadow 2\/5 m long on the ground, then the
sun’s elevation is 1
® 4) 30° (B) 45°

° D) 90°
(©) 60 (

©

430/2/1/DA2AB/21 P.T.0.
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19.

20.

21.

22.

e

(A)

(B)

(©)
D)

(=45 =]

3

O
(TR — aeh i 99 )

frafaftad 97 19 9 20 § e 31f¥heH (A) & o1 U d (R) fem mn 2 | =
foreheui @ T ST
R (A) T Th (R) THI T & 3R b (R) e (A) 1 It e swiar
2l

AR (A) 71 qeh (R) M1 & &, WY b (R) SR (A) =hl Hel =3 el
HATR |

IMHA (A) T 7, g b (R) T TE 2 |

MR (A) 3 &, 76 T (R) T 3 |

FRHUA (A) : 3fe Torell Bryst shl Tk Y11 o FHIR 311 &1 Y1371 bl -t foigani @

fireen S 3 fou e Y i T, 3 31 3 ST v A S ff
BT |

b (R) : Brager bt foreft oft syor o gt Yamd i @i o wehc € |

Ffed (A) ;T (0, 4), y-Ir@ R ? |
T (R) : T foig, ST y-3781 W @ 2, 1 x-Femes s gran 2 |

Qg -g
(e org 3ol W)

T TEAT 21 T 25 e AT T -ITHIT ThR o T & 7T Tdsh TH & 2 3h & |

AT IS [l 3, 981 84 3R 144 1 HCTF A1d it |

(a)

(b)

1 SITohd ST 31 ART 70 & 3K 3TehT T 10 7 | Tehd TEATE 71 hIT |
YT
xﬁ(y%ﬁﬁﬂgﬁlﬁﬁm:

x—3y=17
3x—3y=25

430/2/1/DA2AB/21
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(Assertion — Reasol;jl bglsed questions)
Directions : In question numbers 19 and 20, a statement of Assertion (A)
is followed by a statement of Reason (R). Choose the correct option :
(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the
correct explanation of Assertion (A).
(B) Both Assertion (A) and Reason (R) are correct but Reason (R) is not
the correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

p—t
©

Assertion (A) : A line drawn parallel to any one side of a triangle
intersects the other two sides in the same ratio. 1

Reason (R) : Parallel lines cannot be drawn to any side of a triangle.

)
e

Assertion (A) : The point (0, 4) lies on y — axis. 1

Reason (R) : The x-coordinate of a point, lying on y — axis, is zero.

Section - B
(Very Short Answer Type Questions)
Q. Nos. 21 to 25 are Very Short Answer type questions of 2 marks each.

21. Find the HCF of 84 and 144 by prime factorisation method. 2
22. (a) The sum of two natural numbers is 70 and their difference is 10.
Find the natural numbers. 2
OR
(b) Solve forx and y : 2
x—3y=17
3x—3y=25

QLLROCEEICLEOCEEEEEOOEEOEIOCROEEECIOECOOECEICCEOOCEOEIOCE0
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[a:
. T F 15 @S U 145 3798 U1 H e M0 | Uk O Agosat 39 et 8 Tk s

2 | FiehTel U 9 % 31T 0 B <R TRiehar s Hifv |

DO
w

DO
W~

. (a) g IR H, OA-OB=0C-0D 2 | fag Hifsw 6 AAOD ~ ACOB
C

A

B

JPRpET
(b) &7 3mHfa F, /D = LE 3N %:‘g—g% | fag hifSTe o AABC weh Tmfgamg
[EESE
A
D E
B C

25. Tag shifsTT fon ferelt I o Torell = o Tl R S 718 ToRi-W@T¢ TRe SHTR Bi & |

Tug - T
(STg-3ITF T
Y GEAT 26 U 31 h T -ITHIT TehI & I & AT Tcdish T o 3 37h & |

26. T U Ueh 1Y IBTA I & | IRk F1d hife
(a) S 9Tl 9T Ueh H HE&I1 ITH 89 < |
(b) I UTET T A STelt T3 <61 AT 9 § 37feres B T |

27. (a) < T Il U, 9 I I T Sa, Rrrehl g 24 cm 2, B 4, Frweht B
5cm%,aﬁwﬁaﬂ?ﬁ%|@§ﬂﬁﬁwmﬁﬁ?|
JET
(b) Tirg Fifor fop foreft smr foig & foreft 9 e wii=h 8 &1 vl & e 1
wrs feig i ol el aiTel TETEus R g 0t AN hIvT <1 HYTeh Bl ¢ |

430/2/1/DA2AB/21

[\

w



(=155

[
15 defective pens are accidentally mixed with 145 good ones. One pen is
taken out at random from this lot. Determine the probability that the pen

taken out is a good one. 2

)
0

DO
-~

(a) In the given figure, OA-OB = OC-OD.CProve that AAOD ~ ACOB. 2

A

B

OR
(b) In the given figure, /D = ZE and Q:E Prove that AABC is

DB EC

1sosceles. 2
A

B C

DO
ot

Prove that the tangents drawn at the ends of a diameter of a circle are
parallel to each other. 2

Section - C
(Short Answer Type Questions)
Q. Nos. 26 to 31 are Short Answer type questions of 3 marks each.

)
o

Two dice are tossed simultaneously. Find the probability of getting 3
(a) an even number on both the dice.
(b) the sum of two numbers more than 9.

DO
=~

(a) In two concentric circles, a chord of length 24 cm of larger circle
touches the smaller circle, whose radius is 5 cm. Find the radius of
the larger circle. 3
OR
(b) Prove that the angle between the two tangents drawn from an
external point to a circle is supplementary to the angle subtended by
the line segment joining the points of contact at the centre. 3

430/2/1/DA2AB/21 P.T.0.
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%4
. g R e 7 — 315w srafa den 7, fean mn @ o6 /5w st s g |

DO
0

DO
©

. (a) fooma agug «2 — 3x + 2% IIh o IR P & | Th fgaTa dgUg i AT Shifg
{3k I 200+ 1 3T 2B + 18 |
YT
(b) WEIG 4x2 — 4x + 1 I TG HITIT, TR I qAT TUTTehi h S o TY hl
eIl <hl S HIT |

tan 0 cot®
30. ﬁ?@@ﬁm% 1_Cote+1_tane—1+sec@cosec@

31. TR SR QAW (wipers) &, T TER 4} S=BIEd Tal 8id & | T a3 6 aehl
&I TS 21 cm & 3R 120° % IV G FHHL THTS L Tehell & | RN 1 Tk FE
w1 TG &l AT 81 ST 8, T Shife |

Qg -
(Srel -3 SeT)
T T 32 § 35 ok -3 T & R YAh % 5 Ih ¢ |
32. TH PR UM T fe7 0 $ Raeil o1 fmior wtar 7 | v fomw e =g <@ mn fo
e Raet <t fmior amra (% §) 39 fe7 & fmior e RaetHi <6 s =61 55 9 @
wereR off | Afe 3| fea i et fmior wvra 2 750 oft, @ 39 T ffta Raeai 6 e
ST SIS |

33. T e h T q¢ T T 21 1. e STTERA: @I & | T o 3Ieh | GO ¢ o T 31
foig © 2fer < TR o1 373 10T 60° & | 341 72 T 39 foig § 20 m G 31K 39 foig =l 2
% TTe ¥ fireT areft Y e ue 31 foig & et < fra o1 39 Shivr 30° § |
T H SaE 3R T H =TS T HIT |
3 = 1.732 %1 YA &L |]
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DO
o0

)
©

o
e

W
—

o)
o

o
.

Prove that 7 — 3\/3 1s an irrational number, given that \/g 1s an irrational

number.

(a) Zeroes of the quadratic polynomial x2 — 3x + 2 are o and B. Construct
a quadratic polynomial whose zeroes are 2a.+ 1 and 2 + 1.
OR
(b) Find the zeroes of the polynomial 4x2 — 4x + 1 and verify the

relationship between the zeroes and the coefficients.

tan 6 cot O

Prove that 1ot 6 + T tan®

=1+ secOcosec0

A car has two wipers which do not overlap. Each wiper has a blade of
length 21 cm sweeping through an angle of 120°. Find the area cleaned at

each sweep of the blades.

Section - D
(Long Answer Type Questions)
Q. Nos. 32 to 35 are Long Answer type questions of 5 marks each.
A cottage industry produces a certain number of toys in a day. The cost of
production of each toy (in rupees) was found to be 55 minus the number of
toys produced in a day. On a particular day, the total cost of production

was ¥ 750. Find the total number of toys produced on that day.

A TV tower stands vertically on a bank of a canal. From a point on the
other bank exactly opposite the tower, the angle of elevation of the top of
the tower is 60°. From another point 20 m away from this point on the
line joining this point to the foot of the tower, the angle of elevation of the

top of the tower 1s 30°.
Find the height of the tower and the width of the canal. [Use \/5 =1.732]

430/2/1/DA2AB/21 P.T.0.
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[=:E:
34. (a) dI TS 3T H, AABC % veis CE 3R AD WER foig P W wfd=eg & @ |
RUFWED 1+2+2
(i) AAEP~ACDP
(ii) A ABD ~A CBE
(iii) A AEP ~A ADB
C
D
P
_
A E B
JAYaT
(b) AD Tt PM sFust: st ABC 3T PQR i Tiferhrd &, S&feh A ABC ~ A PQR
AB AD
%lﬁ@aﬁﬁm%ﬁ—m% 5
35. (a) ) 5
- 14 m -2
7m

Teh HUST 3TN fhet IS (shed) T Il 8 | T8 IS Teh TATH o ATHR T & T T
T Y ARG § | I 39 A 6 3NgR h faumd 14 m x 20 m &
TR W hl $918 7 m &, 1 S H GHERT &1 Hebel dTct! g1 hl 3T
SHIfT | 31, T i T 3 o fore asfiadl 3 31 1 o TIH 400 m3 & 5U
7, 1 318 i Tehat ST anft o sr=hi 2 |
JAYAT
(b) 8 cm HTTS AT 6 cm =TT I Teh 3 ST H T Ueh ThThHR WicA hIZehl HehTed
fean Srar 2 Roreht g aun = sem Y S8 3 B o wue 2 | v s
34 %1 FHIUT I8 S 14 it | (1 = 3.14 ST 1) 5
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34. (a) In the given figure, altitudes CE and AD of AABC intersect each
other at the point P. 1+2+2
Show that
(i) AAEP~ACDP
(i1) AABD ~ A CBE
(1) AAEP~AADB

H
A E B
OR
(b) AD and PM are medians of triangles ABC and PQR, respectively,
AB AD

where A ABC ~ A PQR. Prove that —=—. 5
PQ PM

o
a
~~~
S
N
)
)
3
S

A textile industry runs in a shed. This shed is in the shape of a
cuboid surmounted by a half cylinder. If the base of the industry is of
dimensions 14 m X 20 m and the height of the cuboidal portion is
7 m, find the volume of air that the industry can hold. Further,
suppose the machinery in the industry occupies a total space of 400
m?. Then, how much space is left in the industry ?
OR

(b) From a solid cylinder of height 8 cm and radius 6 cm, a conical cavity

of the same height and same radius is carved out. Find the total

surface area of the remaining solid. (Take n = 3.14) 5

430/2/1/DA2AB/21 P.T.0.
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T E-T

(ST ST STTHTRA J¥)

9 G 36 T 38 T Teh{UT ST STYTRA Y9 & | Ieh Y91 % 4 37 § |

36. UG SIHT Ueh TSB! ST & 3N 38 o=l H IE U & SIeH1 IMeT | I hi 1 @M & fofg
TooTeh oioht 318 3T Uget fer 319+t s o & W 3 5 o1 frewl oot § STefdt § | 98
fafe ITeh! sr=ra | 3 5 1 Toh e serdi 2 |

SRR SIHh R o TR W, T I T I EHforT
(i) 84 T oot U fopaw foeeh gt TTE 7
(i) 8 fert & e oot A fopart iy Bft 7

(iii) (a) 3fe oot T T 5% PeT 120 Fres 31 Tehd &1, A1 AT I fobe T aH T 5%
{5 Teotes o oM B 7

YT

(iii) (b) &= <l et TN FATA AT, T Tectsh T R T |
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Section - E

(Case Study based Questions)

Q. Nos. 36 to 38 are Case Study based Questions of 4 marks each.

36. Saving money is a good habit and it should be inculcated in children right
from the beginning. Rehan’s mother brought a piggy bank for Rehan and
puts one ¥ 5 coin of her savings in the piggy bank on the first day. She

increases his savings by one ¥ 5 coin daily.

Based on the above information, answer the following questions :
(1) How many coins were added to the piggy bank on 8th day ? 1
(i1) How much money will be there in the piggy bank after 8 days ? 1

(111) (a) If the piggy bank can hold one hundred twenty T 5 coins in all,
find the number of days she can contribute to put ¥ 5 coins into

it. 2
OR

(111) (b) Find the total money saved, when the piggy bank is full. 2

430/2/1/DA2AB/21 P.T.0.
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37. ¥ ¢ : T M HHE YR T Ty o “Hewaqul Hehdl” H ¥ U 7§ | I Ui fire gga %
fispe 31 g 1 T ! HIUAT B | STafeh AT g i I8 TR T <t § fob g
ik T U3l | Uh 8, T8 s T TS i 8= & o fofw s 3uanft
ST B |

T % Sl gRT 30 et i S <6t 7 3R i fire gea it g < T o it

T3 3T 3GhT TR 39 b Tem 7T

e firte gea <t gl 6t JEn Tfgena i @
65 — 68
68 — 71
71— 174
74— 77
77 — 80
80 — 83
83 — 86

T FIAT o MR R, T w41 o IR T

(i) ferct ufgensti Hl e H ush1 68 — 77 HE ?

(i) 37 afgenati & fore ufy fire gea 6 yga T mes TR ?

(i) (a) 3 ufgensii = fore ufe fire Tea 6t Trgeh 1 gt F1d I |

YT
(iii) (b) 3 Higen3Ti & fore ufa firre 2eg i ugen o1 Hiee J1d i |
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Heart Rate : The heart rate is one of the ‘vital signs’ of health in the
human body. It measures the number of times per minute that the heart

contracts or beats. While a normal heart rate does not guarantee that a

@
~

person is free of health problems, it is a useful benchmark for identifying
a range of health issues.

Thirty women were examined by doctors of AIIMS and the number of
heart beats per minute were recorded and summarized as follows :

Number of heart beats per minute | Number of Women
65 — 68 2
68 — 71 4
71 -174 3
74 —T77 8
77 — 80 7
80 — 83 4
83 — 86 2

Based on the above information, answer the following questions :
(1) How many women are having heart beat in the range 68 — 77 ? 1
(11) What is the median class of heart beats per minute for these
women ? 1
(111) (a) Find the modal value of heart beats per minute for these
women. 2
OR
(i11) (b) Find the median value of heart beats per minute for these
women. 2

430/2/1/DA2AB/21 P.T.0.
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38. Ueh Ul T I R § LhIvNF ¢ |

oo
(o)

+ 13 P e

+12

+ 11
\ /
1 \ /
10A i i
£ \ /
19 ¢ T i \ 2 5 0 D

0123451)67891;)1I11121I3§>(
I FET o IR W, T J1 o I i
(i) A 3R B feanes fafau |
(i) C 3R D =l IS e {WTEE 6 HeA-Toig o Fcemes fafian |
(i) (a) M 3R Q % == i gft 7 hifsr |

FregET

(iii) (b) 3 fog % fcae F@ FIT ST M 3R N &I S aTct [@HEE Hl 1:3 %
AT B AT €9 § faaia s g |
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38. The top of a table is hexagonal in shape.

1 1
BB e A s B e St Bl | Bty et fiates e B | Jegd

1 I {ei

1
FEaE b B

On the basis of the information given above, answer the following questions :
(1) Write the coordinates of A and B.

(1)) Write the coordinates of the mid-point of line segment joining C
and D.

(111) (a) Find the distance between M and Q.
OR

(111) (b) Find the coordinates of the point which divides the line segment
joining M and N in the ratio 1:3 internally.
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